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30797232
fdryaurqurtnu\ rupurqur\urp >/

huur
44 4400 100

30197233
upurqur\urp fd\IdJ ur \runt{Jt c< hutn

52.5 5250 100

30L97233
falpuquLur\ C< nuu 5 750 150

30797230
pqpurqutru\ c< nuLn 52 2600 50

301972r0 onatuurru0r-uU0bn, nnmbn onFbnn dhugdnLd b[ on c< nun 475 9500 20

30197230
prpuquLtu\ >/ nul|'n 500 2s000 50

30193700 prpu4urpur\ C< nuJtn 236 s9000 250

301 93700 plpur4urpur\ >/ nuiLn 2275 45500 20

30192700 11ur\uqil >/ nul[n 3800 38000 10

301 92701 grru\uqd >/ nuLn 1545
1 54500 100

301 921 52 9Lfp[ uupp c< ntri[n 1200 4800 4

301 97332 ]*11l':. >/ hLun 1 500 45000 30

30197322 ,{*ph: (uutqlhp) c< hurur 2360 47200 20

30197323 tt*irtrt (uurhqlhp) c< nulLn 1783.333 53500.0 30

30197340
uqtu\urplr2 c< NULN 120 3600 30

301 99420 t 2milhhpf Fnlry, \q2mtr c< num 77.4 38700 500

301 99420 t 2mrlLhp[ pnqp \q2ntl: >/ ltu|'n 222 11100 50

301 99420 t 2mrltrhpfr pnqp >/ lUr|'n 181.25 72500 --- " 400

301 99420 t 2mtlhhpf pnulp c< 'lr.llu 73 7300 100

3019722r
rurlpur\ C<

'lt!Ln 186.667 5600 30

30t97t20 \ndqunl >/ nnLfi 145 5800 40

3019711 r 9urnhrh r-[tururnurrurnt Lururhn rhnpn
>/ nnLqh 45 9000 200

30197r12 9runhlh r.lhururnurrurnh Luruhn ilhqhb c< nnLfi 60 6000 100

301.41210 lurz{h> ilhpthur C< hurm 5620 281 00 6

30t4L2L0 Zurrlhl rihpttrur >/ huur 3640 18200 E

301 921 23 Ilnrluruuhp c< hum 980 9800 10

24910000
Unu$rd c< huur 247 494000 2000

24910000
Unu$r& c< urnLqfr 182 273000

1 500

30192130
Llururfrur c< huu 16 4800 300



2\

10192130
Uurtnfrut c< hLuu 90 18000 200

30192130
Uulnfrut c< huur 90.667 27200 300

30192135
Uururfnnf rl[2nt\ c< 'lur(tl 46 2300 50

30192135 Uurtnfrurfr rif2nt\ c< hum 46 2300 50

301 921 00 Ghu$r c< huut 48 4800 100

30r92r22
Sftltf c< lUlLn 20 40000 2000

30t92t23
sPh: c< 'lt!u 325 6s0000 2000

30L92L28
+pfr2, qhlulflt c< huu 76.667 115001 1 500

30r92t28
9pfr2, qhlutSflt >/ hum 200 100000 500

30r92r22
spf':' c< htuur 350 3s0000 1000

30199230 oF*n >a 'lutn '15 1500 100

301 99231 Oputp huun to 13000 500

30r 99232 OFutp c< hun 44 22000 500

22877r30
Shup >/ num 26.6667 8000 300

228rrt30
ihutp c< nun 135 27000 200

228Lrt30
Strnp c< nulm 242 24200 100

30L92730
guli pllfrtrurglrnrl purrluhp A4 >/ hurLn 45 4500 100

30199730
U3 ghpurpurlr rlururlurh c< hu|'n 1526.667 916000.2 600

30199792
oFurgntlg >a nuJtn 400 16000 40

30194500
Prutrnh l C< nulm 40 4000 100

30192rr4
Ourhurp \hfrpir prup&[\[ huttlutp c< nui[n 150 7500 50

30192111
Ourliurpfr Frup&bll

>/ lul|.n 266.667 8000 30

301 921 60 rLzh:.
>/ nuru 140 21 000 150

101 921 60 lh2!2, durqur{bl1u&l: >/ huu 473.333 71 000.0 150

]0192150
lh2f2 2up||u c< hr.um 130 1 9500 150

01 9941 0 trnqp hbpbur\q2mb c< huu 55 11000 200

t019723t b-lt C< huun 5.2 52000 1 0000

30792760 upl': c< huur 45 1350 30

301 92125 Uurp\hp C< lnuu 150 r5000 100

301 92125 Chnqbh> c< 'lr.!Ln 450 4s000 100

30192350 hur U hr-nnurl uint{qLUJhtr IbBb0 txfrbnh duiu.lr.uqbm C< hum 500 15000 30

30197631
feo.rlfn qphpt >/ nul|'n 1032 258000 250

30197646
On.tlfn qphlnl >/ nun 2500 50000 20

ulrunbltullnLp 8452800

09132200 PbtrqhL ftbqnLltun c< hLnn 318 5724000 18000

09132100 Fbtrohtr rlnbJhnuJ C< | rhnn 338 2028000 6000

09134220 'Ihq. q-Lunbthp >/ rhun 292 700800 2400

StrmbuurUruL, uurtrhhqbLh! tr L{urqph UhpngLbn 14997450

39831242 t[rugpF dhtng <BINGO> \uti hudurpdbp C< | unLqr 40c 240000 600

39831242 F gpFTi 9-tn9,, B I N GO > L1 ut 0 h tu tl u ndEpn c< ttq 85C 51 0000 600

39831242 @ilhruduupdbpP >/ unrql 600 600000 I 000

39831243 LtlLuSph rlhlng <ARIEL automat> l'1urrJ hu0undbpp
c< unrqh 650

650000
1 000

39831243
Lrlusph rlhtng o BINGO automab ltutJ
huilundbp0

c<
lqq 1100

1 1 00000
1000

39831241 O6un 6bnpf (100 q)/ unqnnul'lttrtr / c< hum 100 100000 1 000

39831241 c< llq 400 320000 800

39831241 O6un dbnfh (100 q) / unmuuuhullluJtrlu / >a hum 280 280000 t000

39831241 O6run 6bnpf / tuputt'uutuh0ulu1ruu / c< qq 1 00c 300000 300

39831.244 C< hun l5c 45000 300

39831244 C6run urOmbuu!tuG >/ qq 500 50000 100



39831245 lbr1nL11 o6un c< l.tc 40c 200000 500

39831 000 [{uqn11 Uhgng / bnuqu0p,/ c< t{q 75C 750000 1000

39831240 Uulf utulbg0nr1 hbrlntll / dttttlbL / c< mun 15C 225000 1500

39832000
l0ru0[bnh LrlugrluE 0u6nrl4 /dbd2ntq,bpuqu0p
1rut) htudrupd./

c<
Uq 200

160000
800

39831 600
L{urgnr1, dtuppnrl df gng / nut!2tu \urrf hurtlurpdhp i

c< $nr+ 250
300000

1200

39830000 Uu[uhurnul{n uulPnnI tijntP >/ tnun I 000 s00000 500

39830000 Uu0nuhuuttuUh hEqnLlt c< hum 1 000 500000 500

39831 000 Jqurt{h0bpfi L{ugdLu0 tlhlng >/ num 600 300000 s00

33694000 PinnuiUhn Uq 1200 120000 r00

33761 000 On-rnp qnrqr,t.lnr.uEfr / unbrlultuO upr"nur4pnLp;tu[ / >a nulu 80 1 04000 1300

33761 000
lOnL4p qnLqupu0f / urpmuuuhdtu!1u0
upuu4pnLBlru[ /

>/
hun 150

1 50000
1000

3951 3200 U0dbnnghtl pqp1ur / ubrlultu0 uprnr.u4pnLpltu0 /
>/ hum 110 1 1 0000 1 000

39sl3200 U0dbnnghl.l ub4ruOfr qnrOur{np / uputtuu. tuputu4. / C< huun 320
96000 300

33764000 J06bnng[11 hut)tuUunqth Un0hunnn huruufl c< hurn 300 30000 100

39831282 0nZh0 rlupnblnL qnpd{utdp0bp / 909n9 / c< huu 200 40000 200

39831283 luunu!lr g0lng /qnn0qurdp/ c< hurm 450 135000 300

39811300 tnuuqbp6[t2 /4bquunp/ c< hun 40c 40000 t00

3952581 0 Orul tb g 0 n q 0fr 9n g 0 b p rf,r u1 m1 ru 1.1 u h n qpf h u tJ tup c< huu 73C
73000 100

39221480 lnLqunutrlr U lrlurgunulun runquuull.l c< h|'ULn 50c 50000 100

39224300 Jnuumuq 0uppE1nt lunqu.lutuLl >/ huu 1 800 36000 zv

3981 21 00 huurur\|r dub|2 >/ \q 1 500 30000 20

39224330 Ubuuryru 4nq1. un0unbuuUru0 / 8 1., u[^ tlbuunhg /
>a

hum 1000
10000

10

39224330 rlnuI ul.r Ubuurrlng uinouuululu, 6 1., gnuquu]uLn a< nulu 1500 15000 l0

39224330 rlnql qLuuuduruul1hg / 5 l_/
>/ huru 400 8000 20

39224330 rlnr11 qluuLnUuuutlhg /7 t/ c< nun 600 12000

39224330 rlnr11 qluuurduutuyltg / 10 y' >/ nurm E50 17000 20

39839200 anquplrrull (uru{nU) c< hum 140 28000 200

398391 00 4nqurphruU (uturln!) dnnn{ >/ nulu 1400 140000 100

39224300 Iunuu 0upnE[nt lunqrutrultl >/ huu 800 80000 100

39224300 luurulj druppblnL dnquqhujtn c< huu 850 85000 100

39224341 2urdp,;nLq0bp qluumUuutu1fig / uqpunl.l4 / huru I 600 48000 ?n

39220000 ||'ltugph pruu, ullulu$utuutUfig c< hun 650 6500 10

24911200 EDnrLunur, uEt'lutLltUu unmul4nnrpjLllu c< l.lq I 000 10000 l0
31531200 LuDq 40 .{ur c< huu 120 24000 200

31531210 Ltudul 60 {u c< huul 9C 13500 50

315312L0 Lu[q 75.tu >/ htuu 9C 13s00 150

31531210 Lrudr4 100 .{u >a huru 9C 9000 nn

3t531220 -udq 150.Im >/ nun 20c 30000 150

31 531 230 -udq 200.{u >/ hum 250 25000 100

31 s21 000 -tuilq 300.{un c< hULn 440 44000 00

31521 000 -uilq 100 .{m (ouptud) >a hum 300 21000 -- /U

31 51 0000 luDq hulbltuultun 40 qul c< huur zzv 22000 100

31 51 0000 Lrudr4 hru;bltuqum 60 rlu >/ huLn 230 16100 70

315 0000 Ludq hulblurqtru 100 {un >a huJu 35C 24500 70

Jtc 0000 LnLuup0ullt ltudq 500 .{n >/ nuu 700 70000 r00

3151 0000 LnLuupdtuLlft 1u0q 1000 {m >/ hLuu 900 4s000 50

31 51 0000 Lnruu.rnduqn luUu] ']l]L 25U qn c< huu 21 00 168000 6U

31 51 0000 Lnruupdrulfr luruul r]nl 500 qLn c< num 3600 288000 80

31 531 500 Sbnuqrujnlr ILUDLT] / UntufiungEm. ouuu/ >/ huur 500 1s0000 300

31 531 600 3bnEl.Iulho [uDq / UntUnuJrgbm. 120uu/ c< hutn 750 7s000 100

3151 0000 rurton otl2D ruLt utlmnnntuull,lulu lulutl.l >/ hum 620 31 000 50

44521 000
rlnuO lnrlqbp + qhul4u0,0bnnnn{h, utnmulu. t!nu.
l1tu0 htud.

>/
hrrm 3500

175000
50

44521 000 ltufundh llnnqbp / rlE0 
'tutltuh 

/ c< huur 1000 1 0000 10

44521 000 qulunqn qnrlqbp / Lnnpn lu.rrlun / >a hLUM 6sc 6500 t0

44521 000 ?hpqhqqnq uluhtunLuUn qneulbp >/ huu 630C 18900 3

39221410 J b Ir j uj tl rlJ n Lr ur rlu l_ C< huu 85C 680000 800

39221411 rruUh LuLlbL / grulururlbt p0tul1tu0 0lnLpbpltg / >/ huu I 000 80000 80



31211180

U{mndun u09urnfr10bp / ttbl1nnul.tttr0 tu{nnduu
t25U

c< huu 950
38000

40

31211180

U{urn0uu ur[gturnfr10bp / ttbl1unuUutI uttlmnduu
t32U

c< hum 1100
44000

40

31211180

U{u n d ru u u 0 p ur u lr 1 [ b p / t 1b 11 ut p r.u 11 tu 0 uu {u n U u m

/50u
a< hum 1 50C

60000
40

31211.180 J{rnnrJruur u0guuJtl0Ep / bnu$uq i 100 u c< hwm 750C 150000 20

3971 5200 :1b!tnpu!tu0 ubtiun i 1,5 qqu / >/ huul 300c 1 5000 6

397 5200 rLbUunulu! utb[EP / 2,5 l.lqn / hum 4700 23500 5

397 s200 ftEUmnuUu0 uElrbn / 4,5 qqu / c< nuJur 4500 22500 5

445 1110 Puh, qhnpblnr, unrn Eqnnq- qhul1rn;ui ulntnq >/ huu 1 350 6750 5

445 1110 Pruh, frnpblnL, 1tu1[ bqpn{' {tu1n1u qn2n{ >a nuu 13s0 6750

445 r110 0jrud phutl >/ ht!Ln 4500 22500 5

31600000
b Lb U un utl ui ! {tu n r}u q, urb nu U u0 tu p nu 4p nt p; tu 0

>/
huur 150

7500
50

31 600000 t1b!upru11u0 tlunquU, tupmr.uuuh[tu0;ut0
rupuru4pnLpltu0

c< hun 470
23500

50

31212200
ttbllunu.r[1ru0 r.u0!unht, mbrlul4tu0
tuputu4pnrplu0 hum 300

15000
50

31212200
f tb11urnuUur0 ur0 gutnht, urpuruuuhdr.u0;u0
upr.nurlpnLplLu0

c< hutn 450
22500 50

3123000 !npun llblluptultudqbnn, 080 gntln[nq C< huu 52C 10400 20

3123000 !npun llbtlunurLtuDu.lunn, Ungnu gnqntnq >/ hum 12C 2400 20

3123000 '{npurn tLbUunutu0ttlbnn, $npn gnt{nlnq C< hun 95 2850 30

3123000 rnpurn lulun{h unuuunuqf , Uhd gnl.lntnq >/ N|'rlLN 350 1 0500 30

3123000 -{nBurn U ufunLlh unutu LnuJrlfi,, un9nu gnqn lnq c< hutn 200 4000 20

3123000 .fipurn Lfurfunqfi unuuutut1h,, tnpn gn|.1n1n{ >a hum 150 3000 1n

31 651 000
Ub ! n r u fr2 dtuq ru {b 0, h 0p0 tu U utt. q1u 0 tutJt.,

Lltnnplur hhtlph {nu
C< nuiu 220

4400 20

31 600000 b 1b ! up tu ! tu I lun n g, nE rlu! tu 0 tu p mu 4n n t PJ ur u a< nuu 80 1600 2V

31 600000
tlbl.lnpur!ru0 fupng, rup unuuuh dtu[1r.u0

upuru4pnLp.;tu0
>a

huur 250
5000

20

44423230
Ub uruqy ru tu u u lr6u [ 0 b p, p r.uS n {h, u g n td ]t0 ft g /2

dbmn /
>a

huu 17000
'r70000

10

3r221280 ;plurprugdtr[ ltup /5 UUnn / c< huJul 1500 30000 20

3t227280 Eplrupruguru0 lun /3 uEmn/ C< huu I100 22000 20

31224810 Snl1unugUtu0 lurn hLUUurLlunqtfl c< huu 2700 54000 20

1824600 l'lbtnh0b 6bn0ngIbp >/ huun 200 40000 200

39222120 Frudru! rlhuOqu0ltu c< hum 1 3500 500

39222110 UqhuE UntluqLuDJtu >/ nulu 14 2800 200

r 9641 000 nnfrtplrithul frh rnnqpru\, ululplf ulpf htutltup >/ hutn 8C 40000 500

44163172 tlhufLh |unr1n{u\ c< hurur 50c s0000 100

39222100 rl uluurnurpurrl D nuluquDJul >/ huJUl t0 2000 200

3L5t2440 t hnLurlfh lurdq 60utl c< huu 300 300000 1 000

31520000 Lnruulftfrnrf 4}tn1utlfl-t 60 x60 4Uq.u >/ huiu 15000 1500000 100

31520000 l.urilq r1|rn4ur1b! 1 1qS C< hun 1 000 400000- 400

+41.+1Lt0 Llhtnurlur\urL dlltulunrln{ur >/ nuiu 1300 390000 300

44t4ttt0 &\nrtr |unr1n{ur\ >/ nuru t10c 330000 300

4451 1 000 iunBUZnrnp C< nuu 900 18000 20

44411110 9pf bnpur\ dh\ rJru\urLntl >/ huiul 2000 200000 100

44411120 bnpur\ hp\nt {ut\uhn{ c< hurm 3000 300000 100

14400000 Ur1 n2lnr1ug{tub FCU< urnlrlrur 132000 792000 6

15890000 ULtr4ruilphpp >/ 21 00000
39s1 61 00 lurhrlhp&ruhp h urh\n1tru4fL qurpurqurLhp c< 1850000

331 00000 Fd2\ur\uh uurppullnpmrlhhp 20000000
391 30000 $puruhhl ur\ur3 pr [uhm1 p 3000000
34000000 Urlurnqtuhhrlnrutf uruhp >/ 2500000
44221000 Lhuhlnlp FCU< 330000
39710000 9btrqunurrhL ubtuLhUtu FCU< 9s0000

33000000 rlbrlnpulp lr quun{uuurrullnpbp 34927802.69



33661250 4lnnrlhnnt 1o/o-1'tlt c< un{ul.l 780 78000 100

3366Lt20 Unn$htr |o/o-1:It
c< un{url.l 420 42000 100

33561114 Shlnnurhhr
>/ un4uitl 420 105000 250

Snurlurnnt 100rjq /2\ir N5 mnLrrh 510 51 000 100

33661L 12 rl'lnnr.unbnr urdu. 2Oilr N5
>a nnrqh 6875.25 343762.5 50

33661000 Ufqurqhri l5ilq/3ri1N5 c< Lnnrqh 5690 17070Q 30

33661 1 00 UtnnuUnLnhnLrl pbqhtuu 5dr /50dq c< un{urLl 2200 1 1 0000 6n

33661000 thnnUuhL rurJq.5.0dq/1 0d1 Nl0
>/ nnrt{l 2592C 129600 6

33661115 PnLr.uhduUuthtr Uuhtrut 0.5% Sdq/dL 4d1 N5
>/ mnrqh 5705 2852s0 50

33661 1 00 rlhurhrhtr 20rjq/5dr Nl 0
>/ mnr{r 3423.75 102712.5 30

33661100 9ufiqun1 500ilq/l0d1 c< unquLl 1439.36 71968 50

33661000 UpqnLuL uJq. 4dq 2rl1N25 >/ un{urLl 938.4 46920 50

33661113 l-d[rnqbLmul trrumpfrnLd 0.5q >/
bL. 2420 72600 30

33661110 hqn$gnLputr 100rI1 C< $r 17100 2s6s00 15

33621700 Ubunnqpnlnl mufimfrum 5dq/5d1 $1. 3000 45000 15

336tr240 LlUurhrlurqdru6 u6nLfu 0.25qp N10
>a mnLqh 34.96 1048.8 30

3367LL25 Udpnnpunt 0.03N20 C< unrqh 370 3700 10

5502 L I +V Udrn$hr 1Odc N30
>/ unrqh 321 8025 25

33622000 tlnnbLurhtrh h-n uUut. 0.18% N10
>a Lnnlqr 1267.987 101438.96 80

33620000 Llppf tnnl 100dq N10
>/ unuf 1810 27150 15

40
33627710 Urnbtrnrnt,l00dq N30 C< mnLth 170.39 6815.6

33650000 UqhrjurU 500dq N3 c< mnLr.h 972 38880 40

33621000 ULrmndbqhtr 400rJq 1 0d1 N5 c< mnLr.h 9091.1 181822 zv

33521000 UtrunndbqhL 200dq 5d1 N5 c< mntr.h 4625 277500 60

33621000 tllmndbqhL 80dq 2dr N25 a< mnrr.h 11172 446880 40

33621160 UdhLnUuunntruppnt r-B 5% 250ilt c< mnuf 410 32800 80

33651111 Udnouhqhrhti 500dc N20
>a mnulr 600 24000 40

33651111 ULInouhqhrhL 250dq /Stbdopuhtr unlnrurup/ C<
rlur lur rru

111.02 5551 0 500

33651100 UnLqdbLmhL 375dq N20 LnnLqh 3042 91260 30

3355 1 100 LlnLqrlbLrnhL 625ilq Nl4
>/ urnrr.h 1826 1 8260 10

33622200 UdqnhtuU 1Odq N30
>/ $nr4 1 500 30000 20

33622200 UilurnhrruL 5do N30 u.\ unr\h 1200 36000 30

33660000 Uronrqhn 20% rurBh ttutBht
>/ nnrql 420 4200 10

33620000 Upfr\urp4huiln1n1 1 00rlq/1 0il1 N5
>/ mnuf 1 5000 1s0000 10

33520000 LhnnL0nnd 20% 50 tlt c< SL. 1 8000 36000 2

33520000 UrnnL0nnrl 20% 100 tlt c< Sr. 3200c 64000 2

33620000 lfuurnLnht 5/25 dq. N28 c< mnrqh 285e 114240 40

33620000 ll-uunrnhtl0 dq N28 c< mnt{ 2310 92400 40

33660000 lUtrurrqhb 50% 2dr N10 c< tnnLqh 310.57 372684 1200

33660000 lUtrchndhLn N60
>/ mnL{r 9300 139500 15

335113s0 lUuUnnphLuppnt trdq. 5% 5d1Nl0
>/ mnLr.h 503 251500 500

33621100 lUuurhnhL lrrrrhhn 300tlq N20 c< mnrqh 688.8 68880 100

33671000 luss rvfinrh 200dc N20 c< ur n rqh 1 705 17050 10

33571000 lu33 n/uhn2h 100rjc N20 c< urnu.h 1405 r4050 10

33671000 lu33 r/h 100dq N20 rnnrqh 1 340 13400 10



33671000 U33 n/h 200dq. N20 c< mnr{r 1 300 13000 10

33551100 llqhannUhqhb 250dq Nb c< mnLr"h 432 17280 40

33660000 Umunuou 25Uq N25 c< unLr"h 950 7600 8

33661 151 LlqhUrndhn-UUnh 200dq N20
>/ mnulr 384.4 7688 20

3365 11 12 Lldnouhtrrud n/o 1 56.25dq/5dr 1 00dr
>/ Lnnrf 1 060 31800 30

33651110 UnLq.dbLuhb n/o 156.25t1q/5dr 100dr c< r"nnt{ 2098 r 04900 6n

33611341 Uodrunbunhd dhun. D3 1 Odr c< rnnLr.h 685 68500 100

33631281 Utnrnrur n/h 100dq c<
llur[u.rlrrrJ

92.33 27699 300

33670000 UUrlru tjrunhu dutrtrurtrutr 1Odr c< rnnrlh 1152 46080 40

33670000 Urnpn{bLu ubpnqnl
>/ nnLrJr 4152.96 20764.8 5

336s 1114 urbLhqhrhtr G untl. ldrb. c< untqh 80.98 121470 1 500

33531210 Pbuwdbrnuqnl.r DunrB 0.1% 15q c< nnLr.'h 816 12240 15

33570000 Fbpn4nLul Ha 2Lt. c< Lnnuf 3114.72 124588.8 40

3363L282 PbmrunhL hbrLnnq. undhU 200dq Nl4 c< mnrqh 1715 17150 10

3362t720 Fhunrlnnrnr 5dq N30 c< mnrrrh 397.5 31800 80

3361 3000 FhuurLrnnhr Jndhtr 1Orjo Nl0 C< mnL{r 527 52700 100

33520000 Phunnr 1Odo. N30
>/ unLqh 866 2s980 30

33620000 Fhr.unnr 5do N30
>/ [nnlqn 397.5 23850 60

3362 1 000 Fbnrhrunhr urrnLul 0dq/25do. N30 7/ unnu,,h 1865.59 111935.4 60

33621 000 Pbnrhurnhr l0dq. N30
>/ unrqh 1 098 65880 60

33671000 Pnndhbouhb 8dqN50 c< mnLr.h 145 7250 50

33631281 Furubuurhtr Lrnn. ,.lhrLtruUh 40q d< Lnnrr.h 284.24 2842.4 10

33571000 Fnntrfunrhuhtr or. C< mnrr.h 420 12600 an

33550000

Fu!mpf d o2.240[q/5\ hudurpdbpkn-
unhnBuurqnt o?.

>a mnulr
480

24000
50

335s0000 Futrunhrl $nnmb 960dq Nl0 >/ unL{r 129 6450 50

33520000 Fburuubp! 24dq N60 c< nnr{r 9400 141000 15

33620000 Fhqnul 2.5dq N28 hudurpdbp Ffrunr4pnlnl 2.Silq >/ r lur LUr ru
20.51 2051 0 1 000

33520000 nntdbnuhU 24rjc N60 c< r,nnLr.h 4140 124200 30

3369 L 138 *trnLUnqur40% 5.0 Nl0 c< rrrntrrh 345 34500 100

335s1126 9bLrnudhohL w[w.4% 80dq/2ilr Nl0 .c< unL{r 605 60500 100

33691 138 $rrnLUnqurl0% 100dr
>/ mntr.h 426.4 8s280 200

33591138 *rrnrtlnqurl0% 200dr >/ mnLtlr 468 93600 200

33691138 !1nr!nqu 5%250Jr >/ mnr{ 170.4 204480 1200

33691138 *1lnil1nqru 5% 500dr c< unL{r 174 348000 2000

33610000 $rhqht, 0.1q N50 n/h
>/ I lur lur rLU

3.93 3930 1 000

33610000 +rhshL 1.5% 3000dr >/ mnLr.h 1 680 8400 E

33610000 +hgbpf'L 1q dnrlfll c< mnr{r 878.47 26354.1 30

33510000 +drsbpht' 2.1q dndhtr c< nnuJ-r 878.5 4392.s 5

33550000 *pnqpfrLnuftr 50dq\d1 - 1 20d1 c< mnL{r 3277.59 98327.7 30

33621000 (butunnurr 400dr N5 >/ mnLqh 12819.3 1 281 93 10

33675000 thilbnnnrl% 1,0 N10 >/ urnLr.h 216.6667 32s000.05 1 500

33621 600 'Iftpurqnl 1% StIr Nl0 >a
mnLrrh 403.2 80640 200

33621380 rlfqopulrL 0.25rlq N40 >/ mnrql 204 6120 30

33621380 lfqopuftr udq. 0.25dq ldr N10 >/ LnnLqh 768 46080 60



33631310 nhbrn$hhrub 50r-tq N1 00
C< mnrqh lo8el 16335 15

c<
llul [u.lr lu 657.661 6s76'6 10

3359ttzt ]hLurnhu 150rlq N1

33631310 rlhUrnbbtrul.t url.q. 75dq 3il1 N5
mnrr.h 35ol 17sooo 500

>/ nnuf 31ol 465000 1 500
33651153

,,I", ,t,l^/'t' 1rft N5
>/ rnnLqh 10965.851 54829.25 5

33630000
rlhu.rnnuulutr 1dt N5

c< unrqh 5221 3e150 7qTE[uwlqfL 250q/ilt lul Nl nuuupouP 'ruuulrrru I

o 25dq/2dt
>/ rnnLqh 24ool 144ooo 60

33631310 lnruluruu lrll N5
c< tn n Lr.h 2768.p1 27681'2 10

336L1000 thu$runnht 30rJt

c< rnnu.h 2160 216000 100
33631310 lnrbpu 2rfi N5

>/ mnrqh 420 6300 15

33691L00 lhuronrhh 0.1q N10
c< mntf 979 34265 35

33631310 rlhUrnL ilndhU 100dq N10

G< mnLr.h 8651 17300 20
33631310 thl.rrntr dndhU 50ilq Nl0

c< mnuf 1 370 274000 200
33620000

1RA't^ ?rIr NlO

rrr n Lr.h 98.9 1 9780 200
336s1727

hl-,^nnnrnnhn O ln N1O

>/ mn[qn 3980 398000 100
33641 000 nrnL$ruunnL 1Odq N20

>a mnrdp 1944 19440 10
33620000 rlnubqhtn 250rlq N50

>a mnrql 16C 6400 40
33611170 l+Pnrulbnh!!-!&-10,1q W

>a tnnLtf 502 75300 150
33511170 )nntnrurlbnhlh h/p 20dq/d1 2d1 N10

c< mnr{r 4855 48550 10
33620000

Ihr, ,)ROrIn N1

>a nntrf 4392.8 43928 10
33620000 Tnurrjhtr urdur.40ilq5dLN5

c<
lltrr[uJIlt!

134.56 134560 1 000
33622200 Thrulrnnbtrn 25dq hurlupdbp S'"tthg!t' 25!g

33622200 ^Lr,^ A 16r[n hrrrrfirrnr]hn Srurrhmntr 6.25dq c<
Ilur[Lullu

89.91 134865 1 500

c<
rlurlutnu

105.81 158715 1 500E,f^ h,,rrfrrrn*hn Srrrrrhtnnb 12.5rlct

c< +ulurlur
84.74 152532 1 800

33620000 rlbunrutbpu 500dq

33622000 nhnnuntr lOrlq
>a +urlulllul

41.44 29008 700

+uqunu
57.04 39928 700

33622000 rlhnnmntr 20ilq
>/ mnr{r 222C 44400 zv

36r0000 nrnL$urtut,t o2-tl
>a mntql 4503.15 45031.5 10

Alnnnn 2nUurnnhu 30 N28

36s0000 2htrilrupu 750dq
>a urnLrft 875 3s000 40

+u]u.rlllu.r
58.23 8734.5 150

3631287 2hnunbU 'lOdq huduundbB Ulbp-G 1Odq

33670000 tnL$hrhL z4r1qldr 5'0 Nl0
7/ mntql 373.333 224000 600

C< | mntdP 370 29600 80
3621520 ktrruturunht-< N20

>/ unrqh 309.02 24721.G- 80
33621s20 ,^h, 1l t\lrn

C< lmnr{l tos 21 000 200
33621520 ktrutruulnhtlOdq N20

c< +trqurnur
20.9 41 800 2000

33621520 ,^h, ?orIn

c< mnrr.lr 658 6s800 100
33620000 ttrurq -H 1Odq N20

33621000 ,Lt,^h""h (hnnrnh ?OOrIn N30 c< rnnuf 2130 85200 40

c< unuf 2520 100800 40
33621000 ,l-t,^h,r"l-,,,,Ittt Sttt l-rr$tnrhb N5

c< 23.35 37360 1 600
33620000 h,^l,6O,In

>/ +trrlulnuI
136.68 273360 2000

33620000 kLrdurnnn l0ilq+5 dq

33620000 HULlurrnnn 2Qrlq +10 dq
>/ rltrrlul n u,r

209.66 377388 '1800

33620000 tnUhun 5dd N20 hu-rdrupdbp klrtL,qlbL9{g N2O
>/ unr|.[| 97.5 5850 OU

un[L[l '1 150 11500 10
33642230 lnLBhnnpu n/h 50dq N100

>/

a 177.84 10670.4 60
33611341 l'dhurrlhtr uUtll. 5% 1J1Nl0

mnLrrh



33642230 flhnnqnt 5dq N50
>/ rnnt{t 1 590 31 800 20

33531290 hrnrtunn$tlr 0.2q N10
r"n n Lrnh 56.9 s69 10

33531290 hnmrunn$hh 0.4q N30 c< mnrqh 617 6170 10

3353L290 f'em$th orurnurh 100rit c< mntqh 698 6980 10

33591129 hntrn Shp r-ra 500r.ft
trlntql 480 24000 s0

33630000 hhnnrlhtrrurqhh puntD
>/ mnLr.h 300 6000 20

33622000 hohl,rnunht Srtq N24
>a rnnLr"h 367 7340 20

33620000 Lhohhnunht 10rJq N24 c<
r lur luir ru

23.6 2832 120

33661116 l-hnnUurhL 2% 2.0N10 c< nnt{t 251 251 00 100

33642230 l--BhnnBuhL 100dq N100 c< nnt{t 1362.67 13626.7 10

33611000 LhLbou N16
unuf 768 38400 50

33611000 Lhtrbpu $nnunb N28 c< unLr.h 2769 55380 20

33620000 l-nnhuunru 100dq c<
r [ur Lwilu

56.47 15811.6 280

33620000 l-nnhumur 50dq
>/ rlur Lur ru

34.64 9699.2 280

33620000 Lnnhuuur 1 00rjq/l 2.5dq
>/ r[urturilu

69.52 9732.8 140

33620000 Lnrqbmurd 800rlq N30
>/ nnr$ 1514 7570 5

3361 1200 Lnrubnudhn 2dq N40
>/ Lnn[t{| 293 1466 5

33620000 Lhurnhdurn 20dq N30
>/ tn n Lr.h 12883. 51534 4

33611200 LnnuununhL 1Odq N'10
>/ unr{r 22 13200 60

33520000 Lhnmntr 1000qbr c< urnLr[ 2240.4 44808 20

33b2L t4V LbnLrrudbL 10dc N 28 c< mnLr.h 2702 27020 10

33620000 9nnrlurnhtr 25dt c< mnLr.h 598.5 17955 30

33620000 9nnLlurtnL 25rJt c< nnr{t 112.9 451 6 40

33621690 \undbnhtnt 12.5dq N40
>/ mnLrf 960 38400 40

33621690 \untlbnhtnt 25rjq N40
>a mnLr.h 982 34370 35

33521690 unrlbnhtnt 6.25dq. N40 rnntr.h 75e 30240 40

33620000 tr urnnhLbrn t-lburunn-2O N50
>a unL{r 1320 66000 6n

33620000 9urnnhtrbrn ftbmrunn-40 N50
>a [nnrqn 2234 89360 40

1362 15 10 9urunrnnhr 50dq N24
>/ nnr4 264 18480 70

3521510 9uunurnhr 25dq N40
>/ mnrf 151 30200 200

33551148 9rnunhrjuonr ounro 15q
>/ unLr"h 188 11280 60

33691134 trurhnrdh prnnhn ro 4% 200,Jt C< mnLqh 410 20500 50

369 1134 Lrurrhnrdh ptnnhn r-B 4% 100dt c< rnnLrrh 390 1s600 40

33671135 9urqhnLdh plnnhn 10% Nl0 c< mnulr 377 37700 100

33620000 9uunnhnduotrhr 75ilo c<
r lur lur ru.l

17.15 171500 1 0000

33620000 (-lurnnhnrjuuobhr 
1 50do N1 00 c< Lnnrrrh 2057 102850 6n

33620000 9unnhnrrur$ N96
>/ unr4 1007 15105 15

33660000 rbunnLrur udu. 100dq 2dr N1 0
>/ mnrqh 1 389 277800 200

33660000 9bnnUurr 50dq N25 c< mnu.h 1140 34200 30

33660000 9bmntrrur 150dq N30
>/ Lnnrqh 2444.5 122225 RA

33660000 9br-nnlrur bnnmb 100ilq N20 c< mnLr.h 1 300 1 04000 80

33660000 9btnnLurr nbunlunn 150dq N20 c< mnrqh 1618 80900 50

33620000 9ntrruUhnL rudur. 2do 0.2ilr-hbnurntrhr N5 c< Ln n Lr.h 3900 58s000 150

33620000 9nnnurnntr 200dq c<
I lur LUr ru

62.42 74904 1200

33520000 9nnnhudhtr u.rdur. 25% 2dr Nl0 c< rnnrr.h 173.e 70416 60



33621340

9n$bfrL -LrurnpfrnLdfr pbLqntrutn urlq' 20% 1il1

Nl0
>/ rnnLr.h

376.74
75350

200

33661177 9ur.nd urfu nurh h rubn LU N50 C< tI|nuh 85.1 6808 80

33620000 trnLUnn 5dq N50 c< unnunh 2515.15 150909 60

r3620000 gnLUnn qnn 2.5dq N30 c< mnLr"h 1302.77 78166.2 60

33677420 gurrqhnLilh qttnLUntrurm 10% 10dt Nl0 c< 1rlnrrh 1345 67250 50

33611420 gurqhnrdh qttnrUnLum 10% 5ilt N10 c< urnuit 745 74500 100

33620000 gnLunnopuhtuqu.r urdut.5Odq 2dt Nl 0 c< rnnL{r 3750 75000 20

33610000 9nbnb 10000 rVul N20 c< mnt{ 2030 40600 20

33610000 9nbnb 25000 ry'q N20 urnLr"h 4085 40850 10

33691175 qrhnL D 100dq c<
lFr r lurnlrJ

139.33 20899.5 150

33620000 \lbpuurL quunpuuurfr !bp-[1 0.2d1
>/ unquq 1727.84 138227.2 80

33611420 gurrqh D3 $nnrnb 500dq/4o0ME Nl20
>/ mnLr.,h 4615.54 461554 100

33650000 9rudbrnntr 30q t-B rLl.
>a urnrqh 700 r 0500 15

33620000

Ltn-ubuunrt 5uuq+ l.z.5uq NJUnuluurloup
lnnhrrrnrrr F-lSOrln/1? 5 N?8

>/ nnt4 1290 12900 10

33620000 9n-ubtrr.nnp 1 00dq+1 2.5dq >/ r[urlur]rLu
131.85 52740 400

33620000

9n-ubUmnp I UUUq+z5uq NJU nu,luufloup
lnnhrrrnrrr l-l lOOrIn/?6rfn N?R

>/ mnL{r 2650 39750 15

33621390 gnnnunntr /hudrupdbB/ urJq.5% 3d1 N'l 0 c< LnnLrf 2300 69000 30

33620000 \uilhtrrnntr l0tlq/2dt
>/ un{utt 165.69 16569 100

33620000 9udhtrnnL 25dq/5dt c< up{urq 228.54 22854 100

33621100 (burunhtr-rhtrrln 5dr N5 C< LnnLr.lr 2195 439000 200

33521100 (bruu.rnhtr puntB 25q
>/ mnLrfr 577.49 57749 100

33620000 (hulndbn 5dq/10dc N40 c< mnrr"h 2400 24000 10

3362t320 (urrdbh hurLnLU lrlr Nl0
7/ un14 315 31 50 10

33631220 (hnnnUnnmhqnl.r punLB 1% 15q
>/ mnLr.h 216 21 60 10

33660000 (brjnUnr 500dr c<
trl[. (.1|wlou

720 t08000 150

33691123 tjbpbLnurqnr 100dq N6
>/ mnrqh 208.8 2088 10

336s0000 ljbrnnnUhnuonr 0.5% 100dt Nl
>/ mnr|.{l 166.8 417000 2500

33650000 Llburnntrhnuqnr 500dq N20 C< mnLqh 746 22380 30

13660000 Uhpulrqurd 2il1N5 c< rnnLrrh 1200 240000 200

33650000 Uhpulrqpfnl 2d1N10 c< nnrqh 1 980 158400 80

33650000

Uhpufqnl 100dq/ 2il1 N 1 O hurdurpdhP U'hPuFulFIrLl

50r.tq/2dr N10
c< mnrr.h

1 980
99000

50

33660000

Utpulrrlnl 250rlq/ 5rI1 N 1 0 hurilurpdhp Uhpufqpfil
50rjo/2dr N10

C< mnuf
2475

24750
10

33621700 Uhurnqpnlnl 50rlq /tqfrln\/ c<
llurlurilur

23.35 21015 900

33631286 tlfr\ntruqnl L -p 2o/o 159
>/ unLqh 295 5900 20

33511341 Uurqhh 86 C<
r lu r 

Lr.,u 
il u.l

43 92 87840 2000

33551000 llhropuhLull 155 N20
>/ Lnnlqn 1057 31710 30

33691145 UucrLbohnLdh unLr$uur 25% 5ml Nl0
>a mnLr.h 287.28 114912 400

33620000 urutrh -Sbl.r r-a 10% 400ilr c< mnr{r 620 24800 40

33511000 tjbohrj $nnmb N20 Lnnrqh 576.01 17280.3 30

33530000 LIbUnr Pnnhrlb4 punp 40q
>a unrr.h 239.4 23940 100

550 rLJ-ou UburnUrnunudhn 5dq/2dr Nl 0
>/ mn[|{| 470 1 41 000 300

33620000 ftnrnhnnr 2dr N5 c< mnLr.lr 2280 68400 2n
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33520000 Llbourr.nnL 1%1rlt N10 c< mnLrnh 835 25050 30

33620000 [JhnnUu.rrd 1d/100dq
>/ un{ul,l 465.76 116440 250

33620000 UhnnUurrd 150LIq
>/ 1[Ur[Wilru

80,06 96072 1200

335s1139

uopu fr$1npu urg frL 400dq tr/b h ur du pdbp tJnpu f -

Sbp r-B 0.16% 250dt
c< $put4ntt 120C

96000
80

33511150 [Jnu.rhlhnd 1Odc N30
>/ mnLrfr 4845 48450 10

33521000 Uunnnr urrpnrdhbh r-B 100rlt 20% c<
u{ [. r,Jr uj ]du

32000 96000 3

33620000 3nLLhnnpu unlntnum 100ilq Nl0 c< mnLr.h 2480 49600 20

33620000

l.,n-+nt iltlln qnL. 2.5% 4Oq hrutlurpdbp

llutnruut 25dq/q 50c
c< mnrqh

1400.38
14003.8

10

3361 1 170 lrnr-Unrhh 40rjq c< htuF 65 | 9s00 9O00

335111i0 Lnr-Cuu $nnmb 80dc
>/ 4Erluhrll

tn 37.05
29640 800

33591136 lrruunhnrdh ptnnhn r-B 0.9% 250ilt c< mnLqh 163.2 1305600 8000

55bv r r5b lrururnhnLdh ptnnhn 1-B 0.9% 100dt
>/ nn[q1 159.6 239400 1 500

33691 136 Lruurnhntdh Btnnhn r-B 0.9% 500il1
>/ mnLr.h 't66.8 750600 4500

33691136 lrurLnnhnLilh ptnnhn t-ta 0.9% 1000dt c< LnnLrJr 210 420000 2000

33591135 L,uunnhnLrjh otnnhn Ha 0.9% 5rjr N10
>/ unrr.h 315 78750 250

33620000 t,hmnn 5dq/2dr N5 c< unufr 6907.95 r38159 20

33620000 l,hunnnqhqbnhtr 0.5dq N40 c< tnnL{t 321.3 9639 30

33621750 Uh$bnhurhL nnudb 10ric N50 c< urnrr.h 720.44 28817.6 40

33650000 l-rh$nrnntlbn 220dq/5dt'l 00dt
>/ tn n Lr"h 1 980 79200 40

33691100 UndnUuthU urtlul. 0.5% 2d1 N10 c< rnnu.fr 189 9450 50

33691100 trndnLnrhtr w[w.2% 2rjr N'|0 c< mnuf 190.95 9547.5 50

1369 1 100 LndnUurhtr r-B 0.5% 250dr
>/ urnuf 504 75600 150

33611380 l-,htrnuhUtuBBnL 1 0rlq/rjt 1 dt Nl 0
>/ unLrrh 839.7 25191 30

33660000 1,.'nrhqnbL Ff -$npLnb 1 0dq/2.5dq N30 c< r,nnttf 5773.74 866061 150

33660000 Lnrhulnbr UnchtrhL bnnmb
>/ lur[uilw

158.68 380832 2400

33660000 Lnhqpbl Upqfuftlt c<
I lur [ur ru

107.68 258432 2400

33591144 Lurnnhnulh BlrnunLl$urn 30% 5dt Nl0
>/ Lnn[!,h 441 | 32300 300

33610000 Lunhtrb N120
>/ mnrr"h 2640 13200

33620000 Lbnhrbm N28 c< unnrr.h 2422.87 72686.1 30

33650000 1-,nLnn$btr durUU. 1 0Odq/Sdt
>a mnLr.rh 1 000 20000 20

33661 200 Lhrjbuhr 2q rhnrh Nl00 c< rnnrqh 6000 60000 10

33560000 l,nnuhdwb 160ilq
>/ r lrl1u,u 1r u,

80.39 24117 300

33660000 t,npulr{urL 80dq c<
rlurlurilLu

67.84 20352 -- '300

55OZUUUU ,rlpbunurtru 
1 0Uq/1 0 N30 c< mnrf 5731.785 630496.35 110

33620000 'lnbuurrulru 5dq/1 0 N30
>a mnLrf 4686.981 374958.48 80

33620000 rlnbuLnurlu 10dq/5 N30
>/ unrL{'l 5727.211 458176.88 80

33620000 rlnbumuLu 5dq/5 N30
>a mnL{r 4686.981 374958.48 80

33620000 rllnbur"nrunhnLd 5rjq N30 c< rnnrr.h 3115.667 1 86940.02 60

33620000 alpbuurupfrnLd 1 Odq N30
>/ mnlqn 3873.667 232420.02 60

33667t22 rlu.rnuqbuurdnr 0.5dq Nl 0 c< mnu.h 37.99 3799 100

3366Lt22 'tlunuqbunur rln t or.60rjt c< unnLr.h 288 2880 10

33650000

'f uuLf [ur{ tvtt swvt rzruY rt4v rrwuwlrvu+l

LlrJnouhLrrud 625daNl5
>a 4brluhru

n 133 1 9950 150

33621540 n|ururudbnhL ilndhl.rO.02q Nl 0 c< mnurh 540 2700 5

33621542 Qurnrurdbnhtr w[w,2% 2dt Nl0 c< rnnufr 308.9 46335 150
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33661000 ObnubL n/h N40 hurJundbp rtlbnubtr SbpbQ N40 >/ mnrqr 1670.6 33412 20

33651000

'rluFuuu PrlIlulll l\zv IluluurlluuP 'ruIvuu r+lrzull

N20
c< mntt 1891.5 37830 20

33691186 thnuqbuuil urdq. 20% 5rlt Nl0 c< mntqh 38C 1',I4000 300

33691185 'qhnruqbmurd rVq 0.4 N10 c< unLr.tt 106.4 2128 20

33661000 qp6n!lqnlnb 5rjc N50 c< mnr{ 405.27 12158.1 30

t3551001 0nnobnhtr 0.05% 1dt N10 c< mnLqh 381 22860 60

33611390 0hnhnnouhtr 5% ldt Nl0 c< rnnrqh 't70 8500 50

33620000 n|nrtlbnuhtr24dq N60
>/ Lnnrh 4140 82800 20

33520000 0nrdbnmhtr 16dc N30 c< untr.h 3690 73800 20

33622200

alpbqnL!mu1 l.Ift 35ilq N60 hudurpdbp Spf dblnp

U0 35do N30
c< mnr4

1 305
78300

60

33622000 0urLuLqhl udw. 10rlt
>/ un{utl 215.56 258672 1200

33622000 'tlutrurLqhL n/h
>/ lF,trLr.UilrU

20.03 30045 1 s00

33627140 0rurLlhBu 75dq N14 c< untqh 3812 76240 20

33660000

' I luuulululllltq ul)Pl I qulldl |il vuw u[' JuI u.l[wuu rl rYu

undr.r.rtrLbn Nl0
c< unrql 24000

24000

33611720

qfufrn n q n uqn [ 4uuq Ptul q n u n u u u nqtrp
Lntu.turqu 40dq

>/
$1u!ntr 1082.04

54102 50

3362tr40 qrnuhnnqnbr 0.075 dc N30 c< rnnuf 369C 73800 20

33631287 qhdur$nLqhtr dntlhtr N3 C< mnLrJr 2943.25 8829.75 3

33670000 alnLnnpuuu0 400ilq N20 c< mnr{ 7400 148000 20

33670000 QnLnnputu0 200q1000t c< LnnLr.lr 5081 1 01 620 20

33661722 'tlr-unhrlu 100 tlt 1000Uq
>/ unLr.h 2200 88000 40

3 3 69113 3 Qnrp LbprupllrJurtr hu.rdup 2d1 Nl 0
>/ unuf 189 1 890 10

336 11341 ftnLnhnnr 2rjr N5 hurjundbp lubdnnrbLr 2dt N5
>/ mnLrrh 567.2 11344 20

33591129 flhtrobn r-a 500dt' c< untr.h 166.8 500400 3000

3369 1 129 fthbobn r-la 25OrJt
>/ [nn[t4 163.2 81600 500

33620000

ftbLfrmb! 20dq N14 hudupdbp hbruprqpf l20dq
N20

>/ 4brluhtu
E 105

29400
280

336511s5 fth$urduhohtr 300dq. c<
rlullruqur

,-l^{ 64.56 19368 300

33511000

Umnq 4[up o2-t4 hutlu pdbp1-,fr$nrpnrlb4 220dq

85dr 100dr
c< r"nnrr.h

1 980
9900

5

33610000

ULnnq ryfru:p 100dq N24 hurdupdbp

LhSnLnnpuurqhn 1 00dq N30
c< 4brluhur

o 25.17
3775.5

150

33610000

Ur"nnq 4Jrup 200rlq Nl2 hrudupdbp hpub$nLpf 1

20Odo N28
c< rybququr

mh6 60.2
1685.6

28

33691100

uuluquulqnu t p srlL Nlu nuluulnoup

Uturuodunntr 5rjr Nl0
mnufr

1 398
83880

60

3369 1 100 UuurodrumnL n/h N50
>/ unnuf 550 8250 15

33530000 UhLubrrutrh punrp 0.025% 15qp
>/ mnL{r 184.65 1846.5 10

33691210 UunnnSurtrmhtr 91Jr 0.0025% Nl0 c< untrrh 410 61 50 15

3367LtL3 Uurnnrrnu.rilnr 2do N24
>/ un[t{l 312 15600 AN

3367rrt3 UurnnLmudnt ol.
>/ mnLr.h 899.45 8994.5 10

3367LLL3 UurnnLurur.lnt ubnnanl
>/ Lnnrqh 1411 35275 ZJ

33671000 Ubnbmurn nhuUruu 50/100dhq 60
>a nnr|'{| 7712 77120 10

33520000

Unduqfrtru ud;a1. 500dq N5 hurlurpdbp

Sbnrupuntr 5@0dq 4dr N5
c< mnuf

5674
11 3480

20

33650000 UmnbuunrjhqhL n/ft nrh 1q 'C,< rnnrr.h 149.6 224400 1 500

33620000 Unq$nUu,d$nUurrhL udq. 10% 2ml Nl0
>/ nnufr 566 141500 250
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33640000 Unrunurumhtr ry'h 25dq N20 c< mnLrrh 1136 34080 30

33640000 Untunuur"nhb urlw. 1dt N5 c< rnnrrrh 1352 67600 50

33611000 Udbtrrnu N30 c< tnnLtf 1 398 41940 30

33621110 .lunSr.unhtr rVh 2.5dc N100 c< mnt{r 880 8800 10

13620000 .[urrhnnr 0.06cN10 c< rnnufi 81.6 8160 100

33511341 {hUurunr 10dq/1iltNl0 c< unrqh 878 17560 20

33691187 .lhtrqnqbnhb 0.5% 2dtNl 0 c< mnuf,r 800 4000

3361 1341 r.tl6pnLd gurqhnLd +.lhrnurdhtr D3 Nl00 c< mnLrrh 4396 351 680 80

33621730 .lbnuwurdhr 8Odq N30 c< r"nnrr.h 816 81 60 10

J5b r r54 r .thururdhtr F hruduthn 2d1Nl0
>/ unr$ 1200 48000 40

336313i0

qn luunuu pun[p lu. u nuu [lJFsuP' rlrqlrrguuurt{

lrurmnhnrd 30q
>/ mnLth 153.42

4602.6 30

33661 000 .lnrmunbL 75rlq/3dt N5 C< urnrr.h 1829.55 73182 40

33661 000 .lnrr.nunbL hdnLtcbt 20q
>/ qrup!n16 1604.72 40118 25

33620000 ,-lbnnrulhnntr 5Orjq
>a F,rrluru]uj

--L! 43.57 4357 100

33620000 {buubr nnLb$ udut. 6001-tl/2dL Nl0 c< mnuf 1490C 74500 5

33620000 rl-urrnUunnhtr 20dt C< nnuf o?6 37400 40

33661200 .lnLp4nL dndh! 100dq Nl0 c< mnr{r 3250 97500 30

33661 200 ,-lnLnnnb rr/h 100dq N10 c< mnrr.h 1 350 13500 10

33637282 Sbndhtrutr dndhU N10
>/ mnLqh 2997.1 149855 50

33621420 Snrrhu 20ric N30 c< unrqh 7337.6 183440 25

33621420 SnLrhru 1Odq N30
>/ tnnLth 4209.03 105225.75 25

33621420 UrnnnduurnhL 1Odq N30 c< r"n n Lr.h 1127 11270 10

33621 100 S p n rlpur u q lrtr h u dtu pdbp 9, n +h n-!l!l ! !9!lq X?l >/ Lnnrql 540 27000 50

33691100 Sbrjuurrohtr N20
>/ unr{t 426 42600 100

33621 1 00 Snblrunurr rurlu. 5dt c< unquq 277.53 13876.5 50

33691100 Surdbo.hr ldq- N20
>/ unrt{| 1104 27600 25

33691100 Sudbqhr wfw0.2%2ml c< mnLtlr 1278 38340 30

33660000 SnbLurur rVh 400dq c<
I lur [ur ru

86.9 17380 200

33650000 ShnUmuqhn 600rjq/24dt N5 c< mnL$ 91 15.8 91158 10

33650000 Sbmpugf'qfiL ultttupun Lp G< qurp!nL6 540 8100 15

33660000 3bnbnnnrhqhtr 1Jt Nl0 c< rnntrrh 5741 57410 10

33560000 SbnbnnnrhohL 5dt N5
>/ tnnuf 10774 107740 10

3369 1238 SburLudnr dndhU 325Uq Nl0 C< Lnnrr.h 626.15 t2523 --- 20

3365 L1 L6 Sb$uonrhL 1q
>/ mnLr"h 161 .6 484800 3000

33651118 SbbmnhupunL 1q
>/ mnulr 143.55 861 300 6000

33621240 3hrutrnhnpurtrudhb 500tIUc N1 0 c< mnrr.h 164.87 6594.8 40

336s1 134 Shunn$tnpuuqhtr 250riq Nl 0
>/ [nnlqn 198 1 9800 '100

33651134 Shunn$tnpuurqhL 500dq Nl 0 c< mnLr.lr 344 51 600 150

33651134 Shrunn$rnBuuqhtr 0.3% t-p 10 dt urtph t{u.rpht r"n n Lr.h 540 81 00 15

33611160 SbnnLLur 10do/2Jt Nl0
>/ unul 300c 60000 20

33620000
3|ruulnpru\nrplrnuf (gfuunnpru\ntpfrnttt phqlrluru
-ra Uh2rfq/rjr; 2.5ilr N5

c< mnuft
4200

126000
30

33651134

3|lr1pn$1npuragfrh 200il1 400rlq hullurpdhp Sttqpo-
Shp 0.2% 200ti1

C<
u{t.tupb

It' 410
1 6400

40

33520000

Ilnurqlrqfrl I 0rI1 5 0rlq hunlurpdhp Surlu[phh 50tiq
l0ri1N5

>a urdqnqru
9250

277500
30
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33650000 Unpufrgirh ur2pfr \urpfrl0,5% 5d1 c< mnrrrh 2160 21600 10

33650000 rllr\p$htrur\ o$rnur$rflr\ 0,1 % 10rI1ur:pb \utfa[L c< mntf 1 560 15600 10

33650000 t{.frqir4n1 0,5% 5rI1 ur2pft \utfnltt c< unnt{ 2160 21 600 10

33650000 Ufrlnqurfr\ 2,5 % 1Orli urfph \ufahL c< unu.ll 2400 24000 10

33650000 {,frqlrqphpu 2,5 % 5rilur2plt \ufnltt c< unr{r 3360 33600 10

33620000 Pur.unbrun 20Uo. N28 c< rnnr{r 29000 435000 15

33610000 Pdurjurubr 20rlq. unLl.
>/ unqurtl 609.38 243752 400

33610000 Prlrudumbt40rlq
rFlru.uilur

64 03 53785.2 840

33510000 Ptludurunbt 20dq
>/ rlurlu/iluJ

37.08 62294.4 1 680

33641100 Oouhmnqhtr 1dr Nl0
>/ mnLr.h 939 281700 300

33611100 Otlbr.unuqnr n/u 20rlc'N30
>/ unrqh 374 112500 300

33550000

Oulurybpu 500tll hurrlurpdbp r|1uqdn'Sbp 5p 6%

500dr
>a mnLqh

1 680
420000

250

33650000 0urfrnblurpu uUurbph Utupht C< Ln n Lr.h 985 29550 30

33611160 2nbnurL 4dr 8dc urlqntlu 800 32000 40

33551150 Srrnillntrruqnt 1 50dc Nl c< mnrqh 100 1 0000 100

33650000 SnLpurgfrb ZZh\ 5dL
>/ mnu.h 204.6 6138 30

33511120 $udnrnhnhb 0.02dq N20 c< r,nnrrrh 265.2 13260 50

3367rr20 $utlnmhnhtr 0.04dq N20
>/ mnLtlr 657.8 32890 50

33621 590 SnLnnubrjhn 40dq
>a rlur[u.r nul

33 3300 1 000

33620000 $bnnunr 50do/dt 30dt
>/ urnLrrh 2225.6 17804.8 8

33620000 $hqhnmbLo 0.4 Nl4
>/ mnrqh 3024 84672 28

33671000 Lldnnnounr or. 'l5Uq/5dr 100dr
>/ mnLqh 716 10740 15

33631000 SrnLqhLnrnL punLp l5q
>/ r"nnrr.h 300 6000 20

33620000 ShnnLd rbU 100dc N30
>/ tnnLr.h 2547 25470 10

33621 590 $nLpnubdfr4 urdq. 1% 2rI1N10 c< mnLrrh 239 143400 600

33511000 SnugurrnLqbr nnLrlnn L/nl 6q c< 4rupbp 126.8 50720 400

33651192 Odf hu14upnqtt c< NF\ 1 2000c 480000 4

336512t2
(u!rutf rulmurgdutr uLurnnpufrb 2f6nil.1 221\ 370 3700 10

336s1215
(ur!uqutrqpbtrnq rutrumnpufL 2[6ntt1 c< z:F\ 120000 120000 I

336s1199
(ru [1 ur L1 u m u r1n rpluti 2[6n tlq

>a
2,:F\ 6470 32350 5

3365 1 191
(u!ur pnr"n n L[rLu.1ftL 2[6n Ltl c< zilq 11900 35700 3

Pd2!ullurL uuppbpur{npnLdtrbp, qnp8[pLbp tr

uprpuquUbp
22333507-.&

33L4tr45 Uuhl uqfrhurl 23G Pencil-point
>/ huu 4s0 67500 150

33141145 Uuhl uqfrhurl 25G- Pencil-point >/ hurur 440 66000 150

33171500

UqbLurl-h'4frrlnnu t Qndpftl.ttugt{tud
LuLoou.r ruro dr.utr h ru rl ur oudn L

>a hum 8900 44500
5

33141000 trhhurpnhru\urh hpur\ur1|rh \unnhurpf hunlurpubnt
c< hurm 6000 30000

5

33141000 bnnu$ hhphpu\u1|L \uruhuplt c< hruLn 191.63 28744.5 150

33177200 Chqhurhntp urtrqqurlurgriurh 4[dut\ N6 c< hum 12000 24000 2

33140000 Lbphpur\ur3fr!4lunnhurpfr hp\urpurgmgf2 3tihutp
>/ hum 243.01 3645.15 15

33r412rr UHQnt - 2h! elhp$nrlur phurn -hpfqhhp N50 c< mnr{r 5343 1 06860 20

33r4r2r1, 3hnr.lh\ur tunqurhutt
>/ hurm 39.89 39890 1000
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33r4r2L7

lfrbh\nlnqfrur\urh hp\\nqilurttf pfu\ (2quruhf
qlururrr[\h

c< hum 20 30000
1500

33747277 |hltnnqurthh hu1hlf c< huLn 109 163500 1500

33L4t211 Unurp\ ur1 ur\ urL utq u\f 25,4x7 6,2 hum 7.3 14600 2000

331,4t2I1

Otlnpu&urlhurlfh urqrupururF uulF$ Idnl{p SON Y

UP-D897 \uril hullurpdhp c< huu 4500 22500
5

3374727r [ubn 21G
>/ n[!m 4.98 39840 8000

33t4t2LL cDnfutrbpup!duL (f d$nrqf nti) hurdu!upq >/ hum 48.8 585600 12000

33L4Lr3L UnrnLtr dbnqbbrnr duqrudbL urlnuULbnnrl c< hum 260 13000 50

33141115 Pu.rdnurU 150q
>/ nuu 270 324000 I 200

33 141133 Phtrrn 7x14 nl utnbnhr thtuBbpu{nndu6
>/ huum 84.5 1 521 00 l 800

33r4tt33 PhLu 7xl 4 umbnhr rhwiabraurlnnr]u6 c< htuu 92 165600 l 800

33141133 Phbun qhujururhb 2,5x20
>/ huur 314 31400 100

33141!14 fluLqh$ pdzUuUutr
>/ hr.uu 71.65 501550 7000

33r4r2t1, flnrnp k9$ 112x100x300 c< hum 1500 300000 200

33147271 flnqB k99 60x30 c< hr.uLn 365 43800 r2Q

3314121,7 Gnr4p k99 50x50 c< huu 350 28000 80

33t41,2t1 rLunLpurqfr nL lu nr1n{utl a< hutn 232 1r600 )U

33 17 1200 I. upfrhqlnul ttir,Iu\ ilhbuhuuu:\|t N4 >/ nulLn r0000 30000 J

3317L200 Lurpfrhqfurl lhdu\ fbbuhuruur\[ N5 hu.rm 10000 30000 3

33L4r2Lt oru6UurqurUh 22x22 huu 3.2 12800 4000

33147277 Oub\uqur\[ 22x48 >/ hum 8 12000 I 500

33 121 L80 Unrrutr 6trrdruL lurr.lrhl uunB
>/ hurun 31 50 31500 r0

33141136 9u.rurbrnn $nrhh 14Fr c< h r,.u Ln 165 33000 200

33141136 9u.rubun bnutrurhtr 20G C< hurLn 48 120000 2500

33141135 rumbunn bnutrurhL 22to c< hun 48 120000 2500

33L41136 quubnn bnuLrurhtr 24G c< hr.r.run 52 130000 2500

33r4tt36 9umbup bpul.lulftL 18G c< hum 48 7200 150

33141 135 9urlbup bpulurllttt 16G c< huru 48 4800 100

33L4LL36 9umbunp bprultu1[rb laG c< huur dc 2550 30

331,41211 AMBU u{urpll| +ltilut\ ribburhuruur\f N5 2u$u
>/ hum 12500 62500 5

33r4r2L1, $frpuunnnp gfrurulnqfrurl|r hunftup >/ hum 6500 32500 5

33L4t2tt trq2mh uqblurtrfr l.9.7.2 (\btnurlfh {fpu\uq) >a nuLn 4.7333 71 00 l 500

331,47217 9bLnqnLm ur"nbnht umnudtluuhU urubnnrl
>/ hum 185 27750 r50

33 L41159 ObnLnqtrbn pdrUuUurtr nl umbnht
>a huut 11.85 177750 1 5000

33141156 tbnLnqtrbn pdrUurUurL uLnbnhr d< nulm 92 1 84000 2000

33141173 UbqnLnnrtrhs uuJnU
>/ hum 7q 37500 )UU

33141183 Luonqurumnur onLn c< hurun 74 7400 100

33r4tt42 LbnurnUhl 10,0 bnuUndqntrbLn 21-23G uub4n{ c< hum 21 315000 l 5000

33141742 LbnrunUhl 2,0 bnruUndqntrbbn 21-23G uub4n{ >/ huru 13.65 204750 I 5000

33L4Lt42 LbnunUhl 20, 0 bnuU ndulnLbtrrn 21 -23G uubrlnrl c< hurun 32.5 1 95000 6000

33t47r42 L bn tu n U hl 5, 0 bnu ! n dq ntr btr rn 21 -23G u u brln Ll c< hum 11.88 178200 l 5000

33741,L42 lrbnruntrhl htruriLi, 1,0 1 00dhrud nn 27 G r.r.rubnnr.l
>/ hutn 10.4 1 0400 1000

33r4tr57 L,frnunh 6utn
>/ nutLn to r9200 I 200

331,412tL Cu.ru.runbr rhuurunb
>/ hr.uur 5.25 15750 3000
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33147211 OhurbmUu flOh c< hu.ttn 105 21 000 200

33t4r2t1, Qbnull c< hum 846 8460 l0

33L4r2tL tbnruU hudurUqdurb c< huu 13'13.8 6569 5

33L4r2L1 Qbndursuth
>/ huur 255 25500 100

3314721,I ftbLurqbL bntluUht G-230 huur 9000 54000 6

3314121,7 flbLtnqbtr durqu{btr 3x4l1 00
>a hutn 9600 38400 4

33t0r2tt Tbltnqbtr druulurdbL 1 3x1 8/1 00 c< hum 1 0000 60000 6

33t4r2LL Obtr mcbL dur q u d bb 1 8x24 11 00 /ll utb tut/
>/ hum 12000 144000 t2

3314t2Lt ftbuLnqbL durururlbtr 24x30/1 00 /lluttut:/
>/ nuu 18000 144000 8

33747277 ftbtrmqbtr dru qur{btr 30x40/1 00 /tttuLttt:/
>/ huim 30500 244000 8

331,4r2-1.r [lbL urqbtr du u.t ui Ll bt! 35x35/1 00 /l'1 urb u/ C< huru 32500 260000 8

33L4t2LL ftbtrtnqbtr durutudbL 35x43/1 00 /tauLuri/ c< huu 37500 187500 5

331412L7 ftbbLncbtr duuludbtt 35x43/100 9S-lr hudup c< hum 1 02000 sl 0000 5

337472tr ftbburcbL $hUuud 305 c< hr.um 9000 54000 6

3314L143 Utaupft$ftLlumnp c< hr.r.rr,n 3.48 41760 12000

33141L50 UnLnqbr 260,0 c< hurrl 254 1 01 600 400

33L4LrL2 Uurbnulh 5url*5.5d Umnnb hhdpnd hhqnulbpqbtr
>a num 350 350000 I 000

331.4rr2r .l-hnrupn rdrul..turL pb1 (dbur urpu) N4'5'6
>/ num 95 47500 500

33r4rr2l {hnunntdurUuL Bbt (UhUnhr)rrubqn{ 0,1,2 c< hr.uun 385 192500 500

33r4tt2L {hnupnLdruUurL Bbt (Utuu.tnnb) 3,4,5,6 c< hwm 120 24000 200

33t4tztt
u t!uquLluu \.,lul rwYl ruwu I ur rr tr r(twYuul | / Fr re' lsl a

8FG
>/ hr,r.rm 48 2400

50

33L4121,1

U uru Ll u q ur U q ufl ui q n u ul u p n qn qul Ll u ol / t<rr u r lu I v

6FG
c< hum 48 2400

)U

33L4t2L7 Uqlrpnrlhtnpf ul I Junrln{u\ a< hr.un 220 66000 300

33t4121t Uqlrpmlhurplrurllr ]unrlmiur\ rfnt2urnt\ c< hum 500 150000 300

33t4L2I! | Utrqqutuqdutt utupplr hudtup ur4unppbtrtn 4'5!q c< hum 1s000 45000
3

33141183 l-rr.uoncwumnurt qnLn 12,1 4
>/ hurLn 74 3700 )U

33141183 Luonquunnut qntrn 1 8,20
>a hurr,n 74 3700 50

33 L411-83 LJLuOnquuLnnut qnLn 6,7,8 c< hum 79 3950 )U

3314r2lt lrbn66dnn uLudutt 60x90
>/ huut 170 34000 200

331.41130 SLunr.r.r urtruthqh hurdun n5 uurbpf1150d1
>/ hurm 59.5 89250 I 500

33141130 Sunur utruthqh hrurjun ur"nbpfrl150d1
>/ num 60 60000 r 000

33r4727t 3btrLn nh$n Lq r.h npduL n p
>/ num 90 90000 -- I 000

33t4r2tt Urufr hhilnilbutp >/ hurn 11800 23600 2

331 00000 9np1ur1b{ft !urlbput
>/ huur 4900 9800 2

33741211. l$frlmpfr PnLqP
>/ huu 3500 7000 2

33141118

lllrurhqulllur oquiurqnpbilurh uqfrpurl[h
urh&bnnglr\ N100

c< r"nnuf 466.67 14000
30

3314L277

Ufnutrqunl3ur oqururqnpbrfiuh uqlrpuurl[tt
qL+b\Ltp (700lo |rqnqpnulitf tqitn*) N100 6.5utJ

>/ nnLqh 733.33 22000
30

33r4t2l1
u[urhqurillur oquurqnpbrlurtr pd2\ut\uh qiluutp\ n:
uhrlft{urb \urqnqur L 2rurfuit

c< hun 11.45 8015
700

3314L2LL

Ufrurhqurllur ogururqnpbrlurh purlufl \p\Lu\it
nhqfrhn{:*$Jp 38urI n2 qur\uu urnuflnuf 100

hunn

>/ tn n L{r 600 6000

l0

33r4r2tt

alluruuf! {rnpdrutrnp 1.5 d1. 9utftup[:n{
Eopendorf unhuh

c< hurur 7 | 0s00
I 500
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33t4t2tt
0 1w u u frtl r.hnpd ub n p 2d1. \ ur rlrur p frln rl EppendorF

rnhuh
c< huu 16 8000

)UU

33L4tztL Urnhplrfinh4 P 180/60p.
>a mnLr-,h 60000 60000 I

33t4Lr27 Lhpbbrlnl rlfpulubntb
>/ huu 4500 45000 10

33140000

60rlurO 0r-utrdhtn [bdurhuruu:L1ft Utu0|unp
TRISMED huttlun

>/ huun 2000 4000
2

33140000
'tl n L 1 unpulr d b ur p il b 6 ur h r.u u ut ! ft U ttt 0 | u n p

TRISMED hr.n[t-un
c< hum 25000 50000

2

33L4r21,r U0nuQ N18x6
>/ hr.um 43000 86000 2

33LAt2Ll
XP-300 Sqtt:ttfn".qfu >/ hum 800 4800 o

33741277
Ufr\pmlhur 100 il\1 c< hurm 15,000 30000 2

33L4T2LL .hu\nunurlhhptrhp K2 EDTA c< hum 6,000 60000 10

3314t217 Uuh{rhprlur\nrrnurltrhphhp}rhurdup c< nnL*t 2,300 23000 10

337412!7 U4ruqrnnp, rlur\ntuurl trhpuruhrltrtplrhuilurp untth 4,000 40000 10

33140000 Qgnt\nilhurp nhp$npiltu G< hu.rLn
2,000 4000 2

33t4tt42 qlu,ruurfr\ rfrnp&urhnphhp hLU-h hrurlurp c< hurm 13,000 65000 5

33 140000 Onpru\ui rlphtnud 1 8-26
>a huu 2,500 t75000 70

33140000 $n1 [fr \uuhr.np bnurdlmrl
>/ hum 204 6120 30

33r-40000 Snllrlr \ururhurp hp\d1nq
>/ hruur 165 4950 30

33140000

rff\pnqf qhur $nrlrnluur\urh burlpnrl (4nqruutnp)

100-1000il\/1
>/ hum

18,000
| 8000

33140000

d[\pnq]rqhrn rfrm]rn]uru\ruh bur3pml (4nqururnp) 20

200il\/1
c< huut

18,000
1 8000

13140000 curlpur\ur1 rlfr\pnqfnifhmh hurtturp 1000il\/1 c< hu,ln 4 12000 3000

33140000 Ourlpur\ru1 rllr\pnqirqhufr hunturp 200il11/1 c< hutn 3 9000 3000

33L4I2LL
.lu!nrurultrbn qbtnLlh c< hurn 82 123000 1500

33L4r2L1,
tlu!nLrnultrbp trumpfr g Jrmpumnr{ c< hum 80 24000 300

33t4t2tl
.Lu[4nLurr.r.rjLbp Li- hbqup[ttr >/ hum 80 40000 500

33210000
cobas c111 EnLrlp Lnq[1[ >a nun 1500 r2000 8

33140000

Uuhl Cobas c'l'll -f hrurlurp PROBE SET c111

!ull hutiupdhp
>/

nulm 1 53000
153000

1

33210000

:obas c11 1 |u'rlnqhl:

rurrlrl 12 vl20 w
>/

huur 50000
50000

1

33 181120 'Ihurhqh qurh>' hLrlnrthurlfrqunnnp HIPS 1 6 hum 5800 580000 100

33181120 lhurrhqh qrnhl' hhdnnhurlhqulnnp HIPS 18 c< hurm s800 870000 150

33181120 thurrhqh quhr' hhrlnnhruthqururnn HIPS 21 c< hurm 5800 5800000 1 000

33181100 Unrurh hnupurqhb c< hr.um 1980 2376000 r200

3314t149 Shutnnrturthh uruhrltrtn 16G, q/h c< huu 299 299000 1 000

33141149 $huurntturthh uruhqtrtp 17G, q/t c< num 299 44850 150

33141135 thhurnnhurLurtr hnurhurthL, hnh6ml llruurhuhp 1'
c< nun 12700 s0800 4

33691139 2flfhru3|rh luururb3ntp| PurIrPPb2
>/

huun 1941 2911500 1 500

331.41211 $ttt-lt rlitut$qft urqurpunnfr hrurftup
>a huur 751 68 225504 3

33t4t2tl tun4m{u-r\ +ltu{hqh urqrupururlr hruriurp
>a huu 4750 38000 8

€frffrur\urh l,r3ntphp 1961s398.7

33630000 FdrUurUutr uu.thnu 70%
>a hun 915 228750 250
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3363t240 PrnnhbBuhnhb 0.5% uuhnunuthtt t-B c< thnn 1 300 s20000 400

33630000 PbrnurnnhU 10% 1

>/
thunp 4000 400000 100

33631260 Llnrurlutrnrw lrutrurr 1% 10dt
>/ hum 98 9800 100

33630000 0bnhhnnnr 33% 1 c< h..nn 595 59500 100

33630000 9ru rh ubndrutrquJtruin 1 0q C< huu 38 3800 100

33630000 PnpuppnL 30q c< hurm 23.7 2370 100

33631260 3nr1lr nqbpnrpd 5% 30d1
>a hum '198 39600 200

24451140 UnuULnbnhr hurp N300 c< 1Um 2s00 12500

2445L140 (bouutrhnu fuuruLrnm 1
>/

1|'Utn 3993.33 s9899.95 l3

2445t740 -brUnubum 1r c< nun 2700 s4000 20

244s7140 UnLn$utrhnu 1

c<
hum 51 00

25500
5

24451t40 urp\{ur4 50olo
c< hum 3000 7s0000

250

2432t000
PupfnLrlf unL$um 100q c< hun 194 194000 1 000

2432L000 hnqhtr
>/ qnurJ 1 000Q 1 0000

24321000
l-fr rlntr ur pp{ur1 frL tr u Ln p I n td >/ Ltq 1 500 1 500

2432t440 Puroufuuaonr
>/

rhmn 1500
7500 q

2432t000
Unrl$nuuflrgfrluppnr c< Uq 5000 I 5000 3

2432L000
tJbplrfrL luqnLlm

>/ qnuu s00 500 1

2432\OOO
UqnuullurL ppnt C< thnn 1500 4500 3

24327000
Urpuppnr 0.1N10 c< mnu.h 4000 40000 10

24327000
Uqnp-bnqfrtr ltndutrn{u14n L 9f dqut C< thrnn 8000 24000 3

24321240
Pufrlnl pf d[uqbu drupnLp c< thmn 1450 4350 J

33210000
OUtrfrulurl.a 350 - 50d1 >/ hum 6900 345000 50

24327000

$npilurfrL (Snpdul4bh[4 a0% 5p) 20- 2a \q
unupurLbpnL{

>/
Uq 495 123750 250

33210000 a-r h u n u n n r.n bh ntr bn h n n nlilr.r.rL r,n bu r"n h u r,l upubn r

c<
ur n Lqh 42000

42000

33210000

b-fi qnqpnmb[rybbpf npn2dutr mbur.n

hudrupur6nr
>a

unnuh 7s000
75000

I

33210000

C -nburlmfrtl uqfrrnulnLglr npn2dutr mbuu

htutlupr.ubnr
c<

mnLrh 6200
93000

15

t3210000

rhO (C) nbqn Lu h u du ! u.r pqf uLm f qbL lt n p n2rLr.rtr

mbun
c<

mnrr.h 3380
33800

10

33210000

rhO (D)nbqnru hutlullupqJr utrufrqbtrf npn2dutr

urbum
c<

unnrdr 1 850
33300

18

332 10000

Uqu rn l-&fr popu frtr I purtr ur 11 u 14 utr n p n2durtr u bu m

hr.ur-lu.rBubnL

>/
mnLth 40500

1 62000
4

33210000

UprLf trudfrtru unp urtr uSbpuqfi taf Lbmf Ll

bnrutrruUnrl nnnrduL mbum hudu.rpurbnt
>a

Lnnruh 2750
27500

10

33210000

ulgru fr qn gp,n unbfrrlubp h (H D L tu n lbumbpfttt)
nnrirrjuL mbur"n- htudurpu6nL

>/
un[Lrl 42000

84000
2

33210000

Ulgu -$br"n n q p n tn bfrtr fr purL u ! ur ! utr n p n2rJ utr

urbum- hutluprubnt.l
>/

mnLr.h 54000
s4000

I
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33210000

U! mf rlug {ur6 rlu utr ru ! fr pp n tlpJtL ullttt

duduLurUh npn2durL ubutn - htrl{urpu6nL mnt$ 22000
22000

33210000 Udhturqh npn2rlutr ubum-hu{urpurbnt
>/

mnufr s820
87300

15

33210000

ULopqurLur!ub $nu$npfr npn2dub utbuu

hrutlr.uPr"u6nt
c<

unuh 9400
18800

2

33210000

Uu q r.r.r p m ru rn u rI frtr u ur p urb u Sb p tu qf Q f L b un I 11

bnuLurUnd npn2drutr rrrbuu hu{tupl'll6r't
c<

unLqh 2202.67
4405.34

2

33210000

- uutLl tup ul tll u| u.l u 
J 

I u tu u | | | u u u\yu | | wYJ I

l4nlnpirilbupf t4 bqurbuln{ npn2durtr mbuun

hurLlruBur6nr

c<
urnuJr 4500

67500
tc

33210000

UpluL rh nbqnru hurlrLlurpq[r u:trnfiqbb|
npn2dutr urburn

c<
un{. 2500

s0000
2V

33211190 Unrurtr fudph (ll) nnn2druL ubum
c<

und. 1200

666.667

24000
20

20000.01
5U

33211 190 UppuL futlpfr (ll) npn2drutr rnbum

>/
unLl.

332 1 1200 UnrruL tuilph (lll) nPn2ilul mbum
c<

und. 1200
24000

20

33277200 UnrurL bdph (lll) nPn2dub unbuu
c<

und. 666.667
20000.01

30

33277220 UnrurL tudph (lV) npn2rJrutr unbuut

>a
unr.l. 2000

30000
15

33210000

Fbr.nu [r qnqp nurbf 4Lbplr (LDL tu nlburnbp[ttt)

npn2riruL mbuu hu4uPru6nL
c<

nnuf 75000
150000

2

33211280

Fpnrgbgnqf hru pntgfrllr (Brucella Melitensis )

np n2dut r mbu tn-h ru {urputq!-
c<

rnnr{t 6800
27200

4

33210000

Spndpirtrurl[rb duilurtrullfr npn2durb pbum -

hur{r.upu6nt 12x2il1 

-

c<
tnnuh 17500

87500

33271280
I

Pn n Lq ht t nq h n n n2durtr u bu rn-h u {ruprudq(E!l9)
c<

nnLtf 15000
225000

15

33210000

Qur drl ur qg n Lun r.u rl[r 1 m p utr u$bp urqfr n p n2rltutt

rnbum-hutluPur6nt50ml
c<l

lmnrul 8166.67
16333.34 a2

332r1720 gttnrUnqh npn2rjutr rbrr-ll*-{*P*6nt I
>a

ur n Lqh 5000
1s0000 ?n

33210000 bnqthqbnhnLbpI npn2dutr mbutn hur4rupu6nL
>/

nnL{r 4320
21 600

5

13210000 bnUruBh npn2duL mbuLn hutlurpur8nt 2
>/

nnu.h | 14000
14000

I

13210000

Ctr4hurbn4 lr nLqfrrl pfrflrnnLpftL tnbuLn

hru{uPubnL
c<l

lmntm 5000
40000

8

13210000

CL4hurtrnrp uqfrmurLlnLg[ npn2dwtr unbum

hur{upudnr 2 

-

c<
rnnr{r 4000

8000 '-
2

3210000

Ctr 4hutr n rp S[rpnpu frtr ]r pu:b u !u!uL n p n2dullt

mbun hu{tuPur6nt
c<

Lnnuf 32000
160000

33210000

Clr4huLnp Pnlbuunbpfrtrfr npn2ilutr mbum

hr.u{uPu6nt
c<

tnnLr-h 6000
60000

10

33210000

Gp{Lu1frtr $nu$ruLnuqlr npn2tfuL mbuu

hurL{uPrubnt 2 

-

>/
mnLqh 1 s000

1 5000
I

33210000 fdfdnprlfLtrilnt2fr nnn2duL utbuun
c<

rnnLr"h 4500
36000

8

33210000

GfrpbnLnpnq hnpdntrfr pub u!r.ul.1utr n pn2dult

,/ mbuun huL{upr.ubnL
c<

tn n Lr"lt 29000
174000

6

332L13L0

Gpndpnqpuurfrbfr tnburn huu{uupurbnL THR - 
'

120 (6x4ml)
c<

mnLrh 11250
180000

16

33210000

hL$blgfrntr dnLntrnt!lbnqJr npn2riurL nbun
huL{tuPur6nL

c<
mnLrh 21 000

42000
2
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33210000

l-urpuurunqbhhrlpnqbtrruqh npn2rLuL rnbuut

hur{urpu6nr /hbqnLq/
c<

nnr{t 4200
8400 az

33210000

l-1 n ru b]rtr ur gL n 11 h n p dntr fr purL ur ! ur ! u.rtr n p n2durL

mbuur-hruLltuPu6nL
c<

unnuh 42000
84000

2

33210000

I ululullrlllujlr \rr qur r\

h ru pn Lg frl[r tr 1.1 ur un du dp I gG h ur Q udur p Jftbb bp I
nnn2dr,utr mbun hur{uPurbnr

>a

unuh 40000
240000

33210000

tu prdfr4frulfr hupn rg[1fr Llqurrnduilp lgG

h u.rU u rjur n dhtrL bn h n n nZrlu.rb ur bu m h u {wprubn t
c<

unLrh 40000
240000

6

33210000

fu n p fr nL fr t4 qntr u r1n rn p n q [rL fr purtr ur ! u t4 utr

nnnldul.r uburn hu{r.uPu:6nt 1

c<
urnr$ 47100

47100
1

332Lr290 guthnLdh nnnldutr Lnbum hur{upru6nL 1

c<
mnul 12000

192000
16

33211300 gurtqhnLdh npn2rlurlr r"nburn hr.u{urpudryl
>/

rnnrf 4800
76800

to

33211150 gnbuurhtrhLh npn2rl.uL unbum h-uLlupur6nL I
c<

unnLrh 2600
26000

10

33211 160

Ipburrnfrtrlfrtrruq rulmfr{nrplutr npn2du.rb rnbu u
hutltuPu.r6nt

>/
mnr\rl t1300

22600
2

33210000

(u!uruunpbqunfrqfrl -O npn2durL mbum

hruduPubnt
>a

mnuh 2240
6720

33210000

(ru!urumpbqmnfi qfrtr -O nPn2dutt

mbum hurdupurbnL
c<

rnnLr"h 8000
80000

10

33210000 (bdnqnphtrh npn2drutr mbum Jr htr'lqp*q1?-
c<

urnLh 5000
20000

4

33210000

(bqumfrm A {frpntufr trluududp lgM

h ru Lr ur rjrun rjhLtr bn h n n nrduL m burn fr h u {upu.r6n r

>a
ur n Lrfr 30000

30000

332rL320

(bqurmfrm B Lllrp n tuf dulbpbuurlfrL uLuf qbLft

nnn2durtr rnbutnf hutlr,uPu6nr
c<

mnujr '14000 14000 .l
I

33210000

<Uu{uufiu U qfinnrun uqunuuluF lgu

hu!udurptlfrblbpfr npn2tlurtr tnburnf

hr.udr.uBruEnr

>/

Lnn[m 40000
120000

3

33210000

(bpqbu {frpnLufr LlurmrlurdP lgM

hru!urdupilfrLLbplr putrurIu!uL npn2Jurtr

Lnbum hutlurPudnt

c<
nnt$ 69000

69000
1

33210000

<[rlLullrL $nu$nuruqf !fbbmf ta brluLwlln{
nnnldrlL ubum hurdrupu8nL

>/
nnuf JJf,U

201 00
6

33210000 UurqLbohntdh nnnrrlu.rL mbuu hru{upu8nr 2
>/

mnrql 7200 57600 8

33211110

Ubqfr rlbg ru p1 urtr n p n2dr.utr m bu u-u n pfr qb bp ft

hudurpu6nr
c<

ur n Lqh 12000
24000

2

3321L110

Ubqf dbg qlntt4nqfi, utplutlt, uqf LnulnLgft, pH,

lbm nbtr bp lr, Ln bu u:! u-r p ru p l12nfr, tr[rm p I rntr bp ]t,

lblt,1ngfrQbbpf ; ntnnphhLnqbLf h pf finnpfttft
nnnrLlutr mbunuLnnhr.qbbnh hurd upudnt

c<

urnLr.h 4800

28800 --
6

332 11 1 10 ubo n LrJ uuhuu.rUn Lqh nnn?rJuLt Lnbum hu-r{ upubn r

C<
unuh 10000

20000
z

3327L170 uhqurBoLlh nnnltluL ubum hudurpu6nL2
>a

urnLfr 4400
17600

4

33211150

Uf qurtrl n Lp[r (ufrqutrl n pJr uqn un fr) n p n2dutr

Lnbum hur{upu6nt
>/

urnLr.h 7200
86400

12

33211150 UhqurtrtnLBh npn2rJurtr ubum hu{urpudntl
>/

mnuf 7800
78000

10

33210000 uhUnu rruqrlCuih nn n2drutr urbum hurtlurpu6nr
>/

mnLrh 50000
50000

1

33210000 luruunhnrdh nnn2dr.utr ubum hu{urpurbnL
C<

ur n Lr.h 20000
200000

10
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33210000 CurBurnh uluunnnn2dutr BbuBuurnhq GlucoPlus
>/

huu 1 0000
50000

5

33210000 fl Lnbnuur uro du rh nnnrduL rnburn hudr.r.rptu6n L

c<
ur n L{r s0000

50000
I

33210000

Opnqburnbpntr[r purLu!u!utr npn2rJuL Lnbur.n

huduoubnr
>/

mnult 47500
47500

33210000

0pnprL1mfrtrfr putrurtlruluL npn2rlurtr ubum

hurduBu6nr
C<

.nnrqh 32400
64800

2

33211330
'l pn u m ur ur u q bg hbh I,l hu 1.1 uqbL ft puLurLtr ut t4 tutr

nnurjutt mbuur hudupr.u6nL
>/

nnLr.h 40500
202500

332tt240

ft Lrdu u n fr 4urlf tt $tu ! u n ptr bp ]r n p n2dutr Ln bu rn

htutltupu6nr
c<

nntqh 6000
60000

10

33217230 Uh$rhuh nnnrtlul,r urbuLn hutlurBurbnt
>a

ur n Lr.h 12000 120000 10

33210000

S bu m n u ur bp ntr fr putr ur ! ur 1.1 utr n p n2dtuL m bu m

hurlupu6nL
c<

unLrh 48000
96000

2

33210000

SnLpbptlnqnqJr npn2rJutt urptuq mbum

htutltuourbnt
>a

unrm 30000
30000

I

33210000

SnpunqprqrlnqJr htupnLgfrlfl tt!umdudp lgG

hrutrudundhtrtrbnh nnnrduL tnbum hru{upur6n r

>a
urnLrfi 20000

60000
?

33210000

SnpunqluqilnqJr hrupntgfrl[ tr!umdudp lgM

htuUurjurndhlL bnh nnnrduL Lnbum hru{ uptubnr
>/

unrr.h 20000
60000

?

33210000

Spbqnbbdru r4urfr4nrdf npn2rlurtr unbuu

hrudrupudnt TPHA
>a

unLrJr 40000
40000

1

33210000

S p f1 n 4pf p ntr f L fr pub ur ltu 14 uttt n p n2dr.utr mbu rn

hudruprubnL.l
c<

mnLrh 32000
32000

1

33210000

Spfrln4mfrpnLftrf putrur! ur!utt npn2rluL mbuu
hruduourdnr 2

>/
unLth 32000

32000
I

332 10000

\)[ruilruuL+ururttlIJlrltulI utluuluuuF r5u

h w L1 ur dur p tlf LL bp fr puL u ! u lq uttt n p n2t[uL u bu tn

hutlupur6nL
c<

rnnrr.h 44600
44600

1

332 L0000

P1n p lr qtr bp h ! nL g btr m p ur g fr u1f n p n2rlurtr m bu rn

hurduour6nL
>a

unnuf 8300
8300

1

33211130 Pnrbur.nbnhtrh HDL trucnuqLnn nburqbLm
>/

unL{r 3500 17500 5

33211130 Pnrbumbnhtrh LDL LuunuqLnn nbucbLm c< mn1|{l 8000 40000 6

33210000

$n 1b!n L1 [uprutrnrl hnpdntrf putru!u !uttr
nnnrdu.rtr nbuu hurdupru6nt

c<
unLrlr 44000

88000
z

33210000

(.}[ p nqln pn rlf tr I L 14 u u thu ri p h ur ! u tlu p d ftbtt bp ft

nnn2nLd
C<

hum 56000
56000

33200000 tlqnqhnulJ nhurlluh{ c< huu 2390 119500 50

33140000 Munlhnhur urhrnhqhbh npn2rluh hullurpurbnt c< huLn 23000 92000 4

33140000

trpmgtlnulurlrlfdhuur 30 phuuV Brucelloslide-Test
/30 test/

c< hwu
15000

300000
20

33140000

IrlFtrur- uPqFuFuLln z urpquruurq/urea-arSrnrne.

LYO-2 broth
>/ hum 62000

248000 4

3369r,r,39 fararlulhh turnurllnr-ra 1 0r c< huu 5130 2052000 400

33591139 thrnnntru:BBrlh hururhtnrB 50% 1.10t >/ hum 12790 767400 60

33210000

$frpplrhnqhhlr n p n 2 d u 0 unb u m- h utltup t u d n LSta rt 4

FIBRINOGEN-PREST 480 tests (stago)
>/

huu 34,000
68000

2

33210000

LbnqluumfiO Cl 'l1nru , mbuu-
hut{tuptudnLStart 4
Neoplastin Cl pl;4s, 300 tests (Stago)

c<
hr.um 13.000

65000
5

33210000
'tlSSU ullurnrlurur n p n 2il u 0 h tutltupudn LSta ft 4
PTT a 1200 tests (Stago)

>a
huLn 22000

22000
L
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33210000

Opn rJ pfr I dru d u I tu! ubu tn- h u t{ttrpudn LStart 4

STA Thrombin 240 Tests (Stago)
c<

hum 26000
s2000

2

33210000

Uni Calibrator 6x1ml

(Stago)Start 4 urOullrquunnh hutlun
c<

hr.um 59450
59450

1

33210000

gnhrnpnl htrlnt\, 2 riur\urp4ur\, I 2x2x I rI1 Coag

Control .Start 4 ru0u$qwmnph hturlurp
c<

hum 118900
118900

1

33210000 STA CaCL2 ,24x15 rl;Start 4 ur0urfrqururnplr hur$rup
c<

hurrn 42030
42030

1

33210000

STA OWREN KOLLER, 24x15 rl1:Start 4

r"u 0 ru frqtu rnnplr hu rftu p
>/

hu-ru 47150
47150

1

33210000

FINNTIPS 2,50M1 (X100) Start 4 ur0urflrqrumnllt

hrur-lun

>/
nun 241900

241900
1

33210000 Flacon 1850 balls Start 4 ur0tuthquurnnh hutlun
>a

hr.um 75850 151700 2

33210000 Banettes cuvettes 150X4 Start 4 u0ufrqruurnpf huilutp
c<

hum 72780
218340

5

332tr740

cobas c111 trffrnnrP[lr
ntq4ru\|r npn2iluO pbup hu-r{urpurbnt

c<
hum 35000

70000
2

332rrr40

cobas c111 trfr$nmp[h
ptr4hurhmp npn2rlu0 pbup hrurlurpurbnt

c<
hu.rr"n 25000

s0000
2

33211130

cobas c't 11 tunlhuurhPfrtrlt

npn2rftuh urhurn hunlurpurbnt
c<

huLn 24000
48000

2

33210000

cobas c111 Sphq$ghpbu

npn2rlurh uhuur hunlurpurbnt
c<

hr.r.rm 20000
20000

I

33210000

cobas c111 HDL npn/uttt
tnhuur hrurlurprubnt

c<
huu 40000

80000
2

33210000

cobas c1 11 LDL nPn2ilull

urhuur hullurpurbnt
>/

hwtn 63000
126000

2

33210000

Cobas c111 ttphururfrbflt

npn2dLu0 pbup hrurlurprubnr-
>/

num 28000
84000

3

3321Lt20

cobas c1 1'l / qgnt\nqur

npn2[ut0 pbup hur{urpurbnt
>/

hur"n 20000
1 00000

5

33211150

:obas c111 illqub3nrP
rpn2ilutO pbup hu.nlurpurbnt

c<
hun 1 6000

32000
2

33210000

cobas c1'11 U1tu0ft0

ud h0 n nnuu0 u$bnulqurh npn 2f u0 pb uut-
C<

huLn 14000
28000

2

33210000

cobas cl 11 qulLtur-
qgnrulurlfrl urpurhu$hpruqur npn2du0 pbup

c<
num 12000

12000
I

33210000

Cobas c111 HbAlc
npn2dtu0 pbup hunlurpurbnt

c<
num 124000

124000
1

33210000

Cobas c111 \pfuu[tt
\frtrurqur npn2du.r0 pbup hunlurpurbnt

G<
nulm 28000

28000
1

33210000

cobas c1 1 1 L'I2 nPn2dutt0 PbuP

hun{urpurbnt
C<

huu 11000
11000

1

33210000

cobas c111 ZfilLu1$t

$nuQulnurqru npn2duO pbup hunlrupubm
C<

hr.um 17000
t7000

1

33210000

cobas c1 11 Uuqurpururur

rurlfr0ntnpu0u$bnuqurh npn2du0 pbuur c<
lUIm 14000

28000
2

33210000

cobas cl 11 Uilfluqur
phqhurhnrp npn2iluO pbup hrurlurpurbnr-

c<
huur 36000

72000
z

33210000

cobas c1 11 Upntil$r
phrlhurhmp npn2d u0 pbup hullurpurbnt

>a
huut 26000

26000
1

33210000

cobascl11 t. Ql4hurbmP
uqfnnur\n4[ irpn2du:0 pbup hur{urpurbnt

c<
hun 25000

50000
2

33210000

cobas c111 CRP
purtrurtlu\ruh npn2duttt pbup hullurprubnt c<

hun 100000
200000

2
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13210000

cobas c111 CFAS

Qulftppuunp' plrnpfnifrur\urtr urhurflrqhhp]r hurtJu; c<
huu 37000

37000
1

33210000

cobas c111 CFAS HbAlc
t t ut t h p n um n n' f tr phrlhur\urh urhurfrqlrbplr hurtJ ttt p

c<
huu 62000

62000
1

33210000

cobas c111 CFAS protein

!ulfrppumnp' pfrnplrrffrur\rulr urhurfirqhhpfr hurdtup C<
hur"n 130000

130000
1

33210000

cobas c111 CFAS Lipid

Qu1[ppt-umnp' p]rnpfrifrur\urh urtrur$qtrhpfr hurdtttp c<
hum 19000

19000
1

332 10000

cobas c1'1 1 \nbupnl l1[rh

2hrf rinrlulr 1
c<

huLn t61000
161000

1

33210000

cobas c1 11 \nLupnl \$l:
2hri rlnrltnf 2

>/
huu r61000

161000
1

33210000
cobas c1 11 Cleaner c< hurm t8000 54000 3

33210000

I.rlurgnrl hhrlnr-\ hfrdl-rurlfh phnrlpfr \npruu U111

u0 r.ulfrqLu unnpfr hutd tup
c<

huLn 1 8000
18000

1

33210000

Activator for Cobas c111 9x12 ml Vnpuru |rtruhqtut
h Vnpuru U1 11 urhurfrqunnnphhpft hurrlurp

c<
hurm 39000

39000
1

33210000

ISE Deproteinizer:9npuru c1 1 1 ruhru$qururnplr

hrurlurn
c<

hum 9000
27000

J

33210000

9npruu Ul11 nt0tulfrqumnnh hutJup
NACI9% Diluent c<

hurn 17000
17000

1

33210000

htrfnfrqrugtrnl nhruqtbur:9npuru Ul 1 1

Lu0 rulf quunnpf htudutp
c< huu 41000

41000
1

33210000

cobas c111 flhu\g[nl:
l1 nL{hubhp} hurrlurprubnr

c<
hum 63000

2s2000
4

33210000 cobas c1 1 1 cobas sample cup
>/

num 56000
s6000

33210000

Cobas e 41 1 Elecsys 2010 h1h\ufru
rlhhfrlpnLqfrurhlnuurhpnh-unr1$ruur ptu 0 ut ! tl ! u 0

npn2rIu0 uburn-hu{rupudnr
c<

num 88000
88000

33210000

Cobase411 Elecsys2010 h1h\ufu
'lhhf 4pnLq[ruhrlnuurhpnh-untlQurur \ur1]rppuunp

c<
hr.r.ru 29000

29000

332L0000

Sobas e 411 Elecsys 2010 h1h\ufu
Shuurnuurhpnh pruOru|.1ul1tuO npn2f u0 ubuu- c<

hr.r.rm 82000
82000

33210000

3obas e 411 Elecsys 2010 h1h\ufu
Shurnnutnhpnh \urfrppurunp

c<
hr.um 29000

29000

33210000

3obas e 41 1 Elecsys 2010 h1h\ufu
b n 1b 1.1 n r 1 fupu 0 n 4 h n p d n 0 | pru0 tu 1.1 ru! nrO n p n 2d u0
nbuu-hrurlrupu6nr

c<
huru 58000

58000
1

33210000

Cobas e 41 1 Elecsys 2010 h1h\ulru
bn 1bl1n L1 fupu0n 11 h npil n[ \urfrppunnnp

>a
hum 34000

34000
I

13210000

Cobas e 411 Elecsys 2010 h1h\ufru
qpnlur\urfrh hnpdn[ [ ptu0tut4tultu0 npn2d u0
ubuu-hr.nrlrupu0nr hu.rm 74000

74000
I

33210000

Cobas e 41 1 Elecsys 2010 h1h\ufru
qpnlur\tnfh \urfippurunp

>/
huu 34000

34000
I

33210000

Cobas e 41 1 Elecsys 2010 h1h\u[ru
tunpf nIf ! qnIu4nupnqf 0lr pru0ur!ru!tu0 c<

huu 77000
77000

I

33210000

Cobas e 41 1 Elecsys 2010 h1h\ulru
tu np In0[! qn0u4nupnqf 0ft \urfrppulnnp

c<
hutn 29000

29000
1

33210000

Cobas e 411 Elecsys 2010 h1h\ufu
S np u n q 1u q[ n u | 0 1.1 u m d u d p G h ru 1.1 ru d ru p rI [r 0 [ b p ]r
pru0uUu[tu0 nrlnzdu0 pbun-hurrl r.upudnL

c<
hr.url 97000

97000
I

33210000

Cobas e 41 1 Elecsys 2010 h1h\ufru
qphufr\nhupnl S npunqlulq0nu lgG

c<
hr.utn 75000

75000
I
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33210000

Cobas e 41 1 Elecsys 2010 h1h\ufru
Sf unn0bquln{f pnLufr 0llutnrludp G huur 142000

142000
I

33210000

3obas e 41 1 Elecsys 2010 h1t\ulru
qphu[\ntlrrpnl 3fiun0bqu1n{f pnLu lgG c<

hr.um 71 000
71 000

33210000

Sobas e 411 Elecsys 2010 h1h\ufru
rl p n u tn u u u nl b S h $ h q h u [1 ur q b 0 fr p u 0 tu ! ur L1 tu 0

c<
hum 1 02000

1 02000

33210000

Cobas e 41'l Elecsys 2010 h1h\ulru
rl p n u mu r.n u u{bg h $ h q h u ! uqb 0 }r \urfrppururnp

c<
huun 34000

34000

33210000

Cobas e 41 1 Elecsys 2010 h1h\ufru
urqur u pfr popu 

Jr 0 lr pru 0 u 11 tul.1 ru I n p n 2d ruO pb u ur-
>/

'rum 58000
58000

1

33210000

Cobas e 41 1 Elecsys 2010 h1h\ufru
uqulLn pf pnpu fr 0 fr \urfipprurnnp

c<
nuJm 34000

34000
1

33210000

Cobas e 411 Elecsys 2010 h1t\ulru
L.; n Lm b | 0 r.n g 0 n 11 h n p d n 0 fr p u0 ru ! rull ru 0 n p n 2d ur 0

>/
num 58000

s8000
1

33210000

Cobas e 41 1 Elecsys 2010 h1h\u[ru
LlnLmbf 0ugIn11 hnprln0fr \urfrppururnp

c<
hr.uLn 34000

34000
1

33210000

Sobas e 41 1 Elecsys 2010 h1h\ulru
df pbnupnq hnpdn0f pru0uLlr!urO npn2du0 c<

hum 58000
11 6000

2

33210000

Cobas e 41 1 Elecsys 2010 L1h\ulru
Of pbnupnq hnp0n Ofr \urfrppruurnp

c<
hrur.n 34000

34000
1

33210000

Cobas e 41 1 Elecsys 2010 h1t\ulru
d.rfrupu00bplr puns|'1bqh CA 125 uIrnhqb0h C<

hum 1 36000
136000

1

33210000

Cobas e 41 1 Elecsys 2010 h1b\ufru
&rfrupru00bpfr purqsltbqh CA 125 ur0rnhqb0 c<

huu 29000
29000

1

33210000

Cobas e 411 Elecsys 2010 h1h\ufu
t tu ! ru pf p n | 4 q b p np u fr 4ru qfr h tr 1.1 ur d u p rJ h 0 0 b n h
ptu0rullrulu0 npn2dr.uI pbuur-hutluprudn L

c<
hwu 1 03000

r 03000

1

13210000

Cobas e 4'11 Elecsys 2010 h1h\ufru
fuu!rupIpn| 4 qbpnpu Jr4urqfr h u!uilupdh 00bnh

Iur[rppulnnp
C<

huLn 29000

29000

1

3321-0000

Cobas e 41 1 Elecsls 2010 h1h\ufru
S I phn q 1n p n L fi 0 fr h\ulnrfullp h ru t1 ru d ur p rl Jr 0 0 b p lr

a,<
hr.r.ru 1 03000

1 03000
1

33210000

3obas e 41 1 Elecsys 2010 h1h\ufru
S I p hn q1n p n r 1fr 0 lr tr\uruufiurfp h ru 14 u d tu p 0 fr 0 [ b p lr

c<
hurn 29000

29000
I

33210000

Cobas e 411 Elecsys 2010 h1h\ulru
ld fr p op u lr 0 lr p ru 0 u 1.1 ru 1.1 ru 0 n p n 2 d u 0 pb u m- c<

hum 6300c
63000

1

33210000

Cobas e 41 1 Elecsys 2010 h1h\ufru
ld lt popu ft 0 fr \urfrppulnnp

>/
hurm 34000

34000
1

33210000

Cobas e 41 1 Elecsys 20'10 h1h\ulru
qphu[\nhupnl nthfrt]hpuurl

c<
1|'Utn 27000

27000
I

33210000

Cobas e 41 1 Elecsys 2010 h1t\ufru
qphuirl;nLurpnl nlpnlqpurthh riurnlrhn

>/
num 50000

s0000
1

33210000

Cobas e 41 1 Elecsys 2010 h1h\ulru
u4ruultnnp uhu\thh C<

huur 1 500
1 500 ,|

33210000

Cobas e 411 Elecsys 2010 h1h\ufru
ulrurln2

>/
num 6000

t2000
2

33210000

Cobas e 41 1 Elecsys 2010 h1h\ulru LnL6[r2

dmlurlr c<
huLn 42000

42000
1

33210000

Cobas e 411 Elecsys 2010 h1h\ufru
LnL6ht nttrhrlhnurur c<

huuLn 1 8000
18000

1

33210000

Cobas e 41 1 Elecsys 2010 h1h\ufru tSE
ulrulllfr0 c<

hr.r.ru 25000
25000

1

33210000

Cobas e 411 Elecsys 2010 h1t\ufru
ilf !pnl.1.1nL{bu0bp,

>/
hutn 56000

112000
2

33210000

Cobas e 41 1 Eleisys 2010 h1h\ufru
brulpu4frp0bp c<

hum 58000
1 1 6000

2

33210000

Cobas e 41 1 Elecsys 2010 h1h\ufru
!1lr0ubL

>/
hur.n 31 000

93000
3
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33210000

3obas e 411 Elecsys 2010 h1h\ufu
lpnub1

c<
huun 27000

81000
3

33210000

Cobas e 41 1 Elecsys 2010 h1h\ufu
qphulr\nhurpnl Thyro Ab-fr c<

hur"n 1 16000
116000

I

33210000

Cobas e 411 Elecsys 2010 h1h\ufu
qph ufr\nhtnpnl rlurpfru

>/
huu 93000

93000
1

33210000

Cobas e 41 1 Elecsys 20'10 h1h\ufu FT3

ruqruu urpfunqpfpnhfrtrir purhu\ur\ruL npn2ilurlr

urhuur hurrlwpurbnr
c<

nuu
s8650 58650 1

33210000

Cobas e 41 1 Elecsys 2010 h1h\ufiu FT3

ruqurn rnpirln4pfrpntrfrhfr purhur\ur\urh npn2riuh

\ufrppuunp

>a

hrum

34500 34500

33L4L2L7
KP-300 Uhlqur\ 101 C< hum

24,000 144000 6

33r41217
XP-300 UtnpmlururnluiqhpWH >/

hr.un
150,000 150000 1

33t4r2tt
xP-300 uhfil]lu c< hum

40,000 40000 1

rap{ubfh c< 584 1168000 2000

2 U2[uurmutrpLbp 29850000.0

+5000000 dbtrpbpfr nLpughtl trnpnqn Ld >/ 22850000.0

z9B1 0000 Sq uqpnpln rL (pd2! tu! uQtub dhupqpbp) c< 7000000

3 Uunr.ulnrptnttt 36338200

5521 I I 00 Ptr urtrr,utr quo h durmurhur n unn Ld PCU< 5900000
6531 1 1 00 hLbl1mpu htrbnqfrurlfr duLnur Quptu pn LrI FCU< 14000000

64211 000 $hou d urb hbnufu nuruUurn PCU< 448200

32412110 hLubnLbururhb Lruurh unudurnnntd PCU< 288000
651 1 1 000 fu rjbrnL onh durunul,ttunurnnLrJ PCU< 31 00000
54110000 Qnur"nuu lhtr 6unu gnLpln rtr PCU< 8000

66111200 FULUulhtr 6unurnLFrnrLLbn PCU< 5000

98300000 (h qh btJ h tr h u U ru h u rJ ur6 ur n u U ru t hL 6ul ntu I n rpt n LLII PCU< 360000
9E300000 fbnuunhounohtu PCU< 264000

90512000 Unpuhutrnqattub 6unu lnLplntlt FCU< 480000

22213000 Sbnb! umclu!tuL 6unur;n LplntLttbp tu< 1 500000

72514300

\ru u r,u q |'u 
I 
rL+)t!Jl I u u I u I u u r | [r r+l I u u u I | | | u

6purqpullrtr uuluhnr{n Ldbbpf d2u!n td tt

ururuuununrd FCU< 676000

50311120

r-l.u u u q u nq:rlrj n u u ul npun F u{ u n ulur u u trr u u

rl bnuLnnnqdurtr 6ur nu.r tnrBtn LtrLbn FCU< 324000

s01 1 2000

s n u u u Lq n rr u urj rr u u rrln g u urr rr Ln up u rr q Lu q u u

uuturuunUnrd 35s0000

66514130

uLtLnnuupuuruuunn ulur nm u+n n

u.r ur u h n rl u.ron n rar n ttr PCU< 33s000

80511000 ,-lbn u u um n u u m dub U- n Lu n rq dub 6u.r nul rn Lor n rtr PCU< r000000
18341140 CbLobn h r,uuhu.rr.utr rjruL 6u nu rn Larn LULbn FCU< 41 00000

Ctr4urrlbtrp 202439809.8


